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T 187 FHo MNE—TH 1 53
T 187 FHo MNE—TH 1 53
T 187 FHo MNE—TH 1 53
T 187 FHo MNE—TH 1 53
T 187 FHo MNE—TH 1 53
T 187 FHo MNE—TH 1 53
T 187 FHo MNE—TH 1 53
T 187 FHo MNE—TH 1 23
PR 379 FHh PE=ETH 19 30
P 380 FHioD PE=ETH 19 24
P 380 FHioD PE=ETH 19 25
P 380 FHioD PE=ETH 19 23
P 380 FHioD PE=ETH 19 23
P 383 FHioD PE=ETH 19 22
P 383 FHioD PE=ETH 19 22
P 383 FHioD PE=ETH 19 20
P 383 FHioD PE=ETH 19 21
P 384 FHiod PE=ETH 19 17
P 384 FHiod PE=ETH 19 17
P 384 FHiod PE=ETH 19 17
P 384 FHiod PE=ETH 19 18
P 384 FHioD PE=ETH 19 18
P 384 FHioD PE=ETH 19 19
P 388 FHiod PE=ETH 19 15
PR 390 FHioD PE=ETH 19 16
PR 390 FHioD PE=ETH 19 10
PR 390 FHioD PE=ETH 19 8
PR 390 FHioD PE=ETH 19 8
PR 390 FHioD PE=ETH 19 9
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PE 390 FHio 8 PE=ETH 19 9
P 390 FHiod 13 PHE=TH 18 10
PR 390 FHiod 15 PMHE=TH 17 5
P 390 FHiod 33 ME=TH 17 7
P 390 FHioo 43 PHE=TH 18 9
P 390 FHiod 45 PHE=TH 18 11
P 390 FHhoo 47 ME=TH 17 6
PR 390 FHiod 81 PE=ETH 19 8
PR 394 FHioo 1 ME=TH 17 17
PR 395 FHho 2 ME=TH 17 22
PR 395 FHo 3 ME=TH 17 27
PR 395 FHo 3 ME=TH 17 27
PR 395 FHo 3 ME=TH 17 27
PR 395 FHo 3 ME=TH 17 27
PE 395 FHo 5 ME=TH 17 33
PE 395 FHio 6 ME=TH 17 37
P 395 FHioo 15 ME=TH 17 34
P 395 FHioo 15 ME=TH 17 34
P 395 FHioo 15 ME=TH 17 34
P 395 FHioo 15 ME=TH 17 34
P 395 FHioo 16 ME=TH 17 38
P 395 FHioo 17 PE=TH 17 40
P 395 FHioo 17 PE=TH 17 40
P 395 FHioo 17 PE=TH 17 40
P 395 FHioo 18 PE=TH 17 43
PR 395 FHioo 19 PE=TH 17 30
PR 395 FHioo 20 PE=TH 17 29
P 395 FHioo 23 PE=TH 17 1
PR 395 FHioD 24 PE=TH 17 3
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PR 395 FHiD 24 ME=TH 17 3
P 395 FHiod 25 PMHE=TH 17 2
P 395 FHhioo 28 PHE=TH 18 6
P 395 FHioo 29 PHE=TH 18 5
P 395 FHioo 41 ME=TH 17 19
P 395 FHiod 42 ME=TH 17 20
P 395 FHhioo 43 ME=TH 17 21
PR 398 FHioo 1 ME=ETH 11 35
PR 398 FHio 5 ME=ETH 11 32
PE 398 FHio 6 ME=ETH 11 34
PR 400 FHh ME=ETH 15 6
PE 400 FHio 5 PE=ETH 11 20
PE 400 FHioO 6 PE=ETH 15 1
PE 400 FHo 7 PE=TH 15 6
PE 400 FHo 7 ME=TH 15 6
PR 400 FHo 7 PE=TH 15 6
P 400 FHioo 15 PE=ETH 11 23
P 400 FHioo 15 PE=ETH 11 23
P 400 FHioo 17 PE=ETH 11 22
PR 400 FHioo 19 PE=ETH 11 21
PR 400 FHioo 19 ME=ETH 11 21
P 400 FHio 21 ME=ETH 15 5
P 400 FHioo 22 PE=TH 15 3
P 400 FHiod 25 ME=TH 15 2
P 400 FHhoo 27 PE=ETH 11 31
P 400 FHiod 35 PE=ETH 11 30
P 400 FHioo 37 PE=ETH 11 26
P 400 FHiod 40 ME=TH 15 7
PR 402 FHio 1 ME=TH 15 25
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PR 402 FHio 1 PME=TH 15 25
PR 402 FHio 1 PE=TH 15 25
PR 402 FHio 1 PE=TH 15 25
PR 402 FHio 1 PE=TH 15 25
PR 409 FHh PE=TH 15 10
PR 410 FHio 1 PE=ETH 14 22
PR 410 FHo 3 PE=ETH 14 18
PE 410 FHioO 6 PE=ETH 14 27
PE 410 FHho 7 PE=ETH 14 28
PR 410 FHioo 10 PE=ETH 14 29
PR 410 FHioo 10 PE=ETH 14 29
P 410 FHio 16 PE=ETH 14 19
P 410 FHio 16 PE=ETH 14 19
PR 411 FHh PE=ETH 14 30
PR 413 FHio 1 PE=ETH 14 32
PR 414 FHo 1 PE=ETH 14 33
PR 415 FHio 1 PE=ETH 14 34
PE 416 FHio 1 PE=ETH 14 35
PE 416 FHo 2 PE=ETH 14 36
PR 417 FHo 1 PE=ETH 14 38
PR 417 FHo 3 PE=ETH 14 40
PR 417 FHo 5 PE=ETH 14 37
PR 418 FHho 2 PE=ETH 14 1
PR 419 FHio 1 PE=TH 13 1
PR 419 FHio 1 ME=TH 13 1
PR 419 FHio 1 PE=TH 13 1
PR 419 FHio 1 PHE=TH 13 1
PR 419 FHio 1 PE=TH 13 1
PR 420 FHio 1 PE=ETH 13 3
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PR 420 FHioO 6 PHE=TH 13 24
PR 420 FHoO 6 PE=TH 13 24
PR 420 FHO 6 PE=TH 13 24
PR 420 FHO 6 PE=TH 13 24
PR 420 FHO 6 PE=TH 13 24
PR 420 FHO 6 PE=TH 13 24
PR 420 FHoO 6 PHE=TH 13 24
PR 420 FHoO 6 PHE=TH 13 24
PR 420 FHoO 6 PHE=TH 13 24
P 420 FHio 11 PE=ETH 14 3
P 420 FHio 20 PE=ETH 14 7
P 420 FHio 26 PE=ETH 14 10
P 420 FHio 26 PE=ETH 14 10
P 420 FHio 26 PE=ETH 14 10
P 420 FHio 26 PE=ETH 14 10
P 420 FHio 26 PE=ETH 14 10
P 420 FHho 37 PHE=TH 13 5
PR 422 FHio 1 PHE=TH 13 16
PR 423 FHio 1 PE=ETH 12 16
PR 423 FHo 5 PE=ETH 12 18
PR 423 FHO 6 PE=ETH 12 17
PR 425 FHio 5 PE=ETH 11 12
PR 425 FHio 5 PE=ETH 11 12
PR 426 FHio 5 ME=ETH 12 10
PR 430 FHio 5 PE=ETH 11 5
P 430 FHioo 10 PE=ETH 12 32
PR 430 FHioo 34 PE=ETH 11 6
PR 431 FHio 1 PE=ETH 12 34
PR 431 FHio 1 PE=ETH 12 34
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PR 431 FHo 3 PE=ETH 12 35
PR 431 FHio 4 PE=ETH 12 1
PR 434 FHo 1 PE=ETH 10 3
PR 440 FHo 8 PE=TH 8 1
PR 440 FHo 8 PE=TH 8 1
PR 440 FHo 8 PE=TH 8 1
PR 440 FHioo 10 PE=TH 8 46
PR 440 FHioo 24 PE=TH 8 47
e 440 Fiioo 27 PE=TH 8 3
P 440 Fiioo 28 PE=TH 8 2
P 440 FHhoo 33 PE=TH 8 31
PR 441 FHh PE=TH 8 48
PR 442 FHo 4 PE=TH 8 35
PR 443 FHho 2 PE=TH 8 36
PR 443 FHo 4 PE=TH 8 28
PR 443 FHo 5 PE=TH 8 27
PR 447 FHo 3 PE=TH 8 19
PR 448 FHo 5 PE=TH 8 18
PR 450 FHo 3 PE=TH 9 50
PR 450 FHio 9 PE=ETH 10 5
P 450 FHioo 13 PE=ETH 10 2
P 450 FHioo 13 PE=ETH 10 2
P 450 FHioo 13 PE=ETH 10 2
P 450 FHioo 22 ME=TH 9 51
PR 451 FHh ME=TH 9 41
PR 452 FHo 3 ME=TH 9 37
PR 452 FHo 3 ME=TH 9 37
PR 453 Fh ME=TH 9 36
PR 453 Fh ME=TH 9 36
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PR 454 FHho 1 PE=TH 9 16
PR 454 FHho 2 PE=TH 9 17
PR 454 FHo 3 PE=TH 9 18
PR 454 FHio 4 PE=TH 9 22
PR 454 FHo 5 PE=TH 9 23
PR 454 FHo 6 PE=TH 9 24
PR 454 FHho 7 PE=TH 9 34
PR 454 FHo 8 PE=TH 9 33
PR 454 FHio 9 PE=TH 9 32
P 454 FHio 10 PE=TH 9 30
P 454 Fho 11 PE=TH 9 29
PR 455 FHio 1 PE=TH 9 28
P 455 FHioO 6 PE=TH 9 21
PR 455 FHo 8 PE=TH 9 15
PR 461 FHio 1 PE=TH 9 10
PR 461 FHo 2 PE=TH 9 1
PR 461 FHio 3 PE=TH 9 9
PR 461 FHio 4 PE=TH 9 3
PR 461 FHio 4 PE=TH 9 3
PR 461 FHio 5 PE=TH 9 2
P 461 FHio 10 PE=TH 9 5
PR 461 FHio 10 PE=TH 9 5
PR 461 FHio 10 PE=TH 9 5
PR 462 FHio 5 PE=TH 5 14
PR 464 FHio 1 PE=TH 5 20
PR 465 FHh PE=TH 5 23
PR 466 FHio 1 PE=TH 5 24
PR 468 Fhh PE=TH 5 31
PR 469 FHh PE=TH 5 26
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PR 471 FHo 3 PE=TH 5 30
PR 474 FHo 1 PE=TH 4 18
PR 474 FHho 2 PE=TH 4 17
PR 475 FHio 1 PE=TH 2 33
PR 475 FHo 7 PEZTH 21 16
PR 479 FHh PEZTH 21 16
PR 480 Fhh PE=TH 2 54
PR 480 Fhh PE=TH 2 54
PR 480 Fhh PE=TH 2 54
PR 480 Fhh PE=TH 2 54
PR 480 FHio 5 PE=TH 2 38
PR 480 FHio 5 PE=TH 2 38
P 480 FHid 10 PE=TH 2 37
P 480 FHiod 22 PE=TH 4 8
P 480 FHhiod 23 PE=TH 4 7
P 480 FHhiod 28 PE=TH 2 52
P 480 FHhiod 29 PE=TH 2 47
P 480 FHid 40 PE=TH 2 44
P 480 FHid 40 PE=TH 2 45
P 480 FHiod 46 PE=TH 2 53
PR 481 &b PE=TH 4 6
PR 481 FHho 2 PE=TH 5 1
PR 482 FHho 2 PE=TH 5 36
PR 482 FHho 3 PE=TH 5 35
PR 482 FHio 4 PE=TH 5 32
PR 482 FHio 4 PE=TH 5 32
PR 482 FHo 5 PE=TH 5 47
PR 482 FHio 6 PE=TH 5 46
PR 482 FHio 6 PE=TH 5 46
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PR 483 FHho 2 PE=TH 37
PR 484 FHo 1 PE=TH 43
PR 484 FHio 4 PE=TH 38
PR 485 FHho 2 PE=TH 40
PR 485 FHio 3 PE=TH 41
PR 486 &b PE=TH 12-101
PR 486 &b PE=TH 12-102
PR 486 &b PE=TH 12-103
PR 486 &b PE=TH 12-105
PR 486 &b PE=TH 12-201
PR 486 &b PE=TH 12-202
PR 486 &b PE=TH 12-205
PR 486 &b PE=TH 12-301
PR 486 &b PE=TH 12-303
PR 486 Fhh PE=TH 12-305
P 488 FHiD PE=TH 20-101
P 488 FHioD PE=TH 20-103
P 488 FHioD PE=TH 20-105
P 488 FHioD PE=TH 20-106
P 488 FHioD PE=TH 20-107
P 488 FHioD PE=TH 20-202
P 488 FHiD PE=TH 20-203
P 488 FHiD PE=TH 20-205
P 488 FHiD PE=TH 20-207
P 488 FHiD PE=TH 20-208
P 488 FHiD PE=TH 17-102
P 488 FHiD PE=TH 17-105
P 488 FHiD PE=TH 17-106
P 488 FHid PE=TH 17-107
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PR 488 FHio 5 PE=TH 6  17-202
PR 488 FHio 5 PE=TH 6  17-205
PR 488 FHio 5 PE=TH 6  17-206
PR 488 FHio 5 PE=TH 6  17-207
PR 490 FHhoo 2 PE=TH 6 12
P 490 FHiod 4 PE=TH 6 6
P 490 FHiod 4 PE=TH 6 6
P 490 FHiod 4 PE=TH 6 6
PR 490 FHio 9 PE=TH 3 11
P 490 FHioo 10 PE=TH 2 15-101
P 490 FHioo 10 PE=TH 2 15-103
P 490 FHioo 10 PE=TH 2 15-104
P 490 FHioo 10 PE=TH 2 15202
P 490 FHioo 10 PE=TH 2 15-204
P 490 FHioo 10 PE=TH 2 15205
PR 490 FHioo 10 PE=TH 2 15205
P 490 Fio 11 PE=TH 2 14
P 490 FHioo 12 PE=TH 2 11
P 490 FHioo 13 PE=TH 2 3
P 490 FHioo 13 PE=TH 2 3
P 490 FHioo 17 PEZTH 21 11
P 490 FHioo 22 PEZTH 21 2
P 490 FHioo 25 PEZTH 21 10
P 490 FHioo 26 PEZTH 21 8
P 490 FHhoo 27 ME=TH 2 51
P 490 FHioo 28 ME=TH 2 2
P 490 FHioo 30 ME=TH 6 29
P 490 FHioo 30 ME=TH 6 30
P 490 FHioo 31 ME=TH 6 2
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e 490 FHioo 39 PeE=TH 3 6
e 490 FHiod 40 PeE=TH 3 3
P 490 FHiod 40 PeE=TH 3 3
P 490 FHioo 42 PE=TH 6 13
e 490 FiHioo 45 PeE=TH 2 8
P 490 FHioo 46 PE=TH 2 10
P 490 FHhoo 47 PE=TH 6 31
PR 490 FHioD 64 PE=TH 2 58
PR 490 FHioD 64 PE=TH 2 58
e 490 FiHioo 65 PeE=TH 2 6
P 490 FHiod 69 PE=TH 6 22
P 490 FHioo 70 PE=TH 2 59
P 490 FHioo 72 PEZTH 21 7
PR 490 FHioo 73 PEZTH 21 6
P 490 FHiod 76 ME=TH 3 12
P 490 FHhoo 77 ME=TH 3 13
P 490 FHioo 78 ME=TH 3 1
P 490 FHioo 78 ME=TH 3 1
P 490 FHioo 79 ME=TH 6 10
P 490 FHiod 80 ME=TH 6 9
P 490 FHioo 81 ME=TH 6 8
P 490 FHioo 82 ME=TH 6 7
PR 490 FHiod 94 PEZTH 21 3
PR 491 FHio 1 PEZTH 21 32
PR 491 FHio 1 PEZTH 21 32
PR 491 FHio 1 PEZTH 21 32
PR 491 FHio 1 PEZTH 21 32
PR 491 FHho 2 PEZTH 21 31
PR 491 FHo 5 PEZTH 21 1
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P 491 FHio PEZTH 21 1
P 492 FHio ME-TH 22 10
P 492 FHio ME-TH 22 13
P 492 FHio ME-TH 22 12
P 492 FHio ME-TH 22 11
PR 493 FHh MEZTH 22 16
PR 493 FHh MEZTH 22 16
PR 493 FHh MEZTH 22 16
PR 493 FHh MEZTH 22 17
PR 493 FHh MEZTH 22 17
P 493 FHioD MEZTH 22 20
P 493 FHioD MEZTH 22 18
P 495 FHio MEZTH 22 21
P 495 FHio MEZTH 22 21
P 495 FHio MEZTH 22 22
P 495 FHio MEZTH 22 23
PR 496 FHioD MEZTH 22 24
P 497 FHio PE=TH 1 51
P 497 FHio PE=TH 1 48
P 497 FHio PE=TH 1 47
PR 498 Fh PE=TH 1 50
P 499 FHioD PE=TH 1 55
P 500 FHioD PE=TH 1 43
P 500 FHioD PE=TH 1 28-2D
P 500 FHioD PE=TH 1 38
P 500 FHioD PE=TH 1 38
P 500 FHioD PE=TH 1 31
P 500 FHioD PE=TH 1 28-1A
P 500 FHio PE=TH 1 28-1B

_12_




RS

Bl

=]

RS

%

T & HT Zl e =
PE 500 FHioo 5 PE=TH 28-1C
PE 500 FHio 5 PE=TH 28-1D
PE 500 FHio 5 PE=TH 28-2A
PE 500 FHio 5 PE=TH 28-2B
PE 500 FHio 5 PE=TH 28-2C
PE 500 FHio 5 PE=TH 28-3A
PE 500 FHio 5 PE=TH 28-3B
PE 500 FHio 5 PE=TH 28-3D
P 500 Fiho 7 PE=TH 26
P 500 Fiho 8 PE=TH 23
P 500 Fiho 8 PE=TH 23
P 500 Fiho 8 PE=TH 23
P 500 Fiho 8 PE=TH 23
e 500 Fiioo 10 PE=TH 32
e 500 Fittoo 11 PE=TH 35
e 500 Fitioo 11 PE=TH 35
e 500 Fittoo 11 PE=TH 35
e 500 Fittoo 11 PE=TH 35
e 500 Fittoo 11 PE=TH 35
e 500 FKittoo 27 PE=TH 25
e 500 FKitioo 28 PE=TH 33
e 500 FiHiod 30 PE=TH 41
e 500 Fioo 32 PE=TH 45
e 500 FiHiod 36 PE=TH 24
e 500 Fitoo 37 PE=TH 25
e 500 FKiioo 38 PE=TH 40
e 500 Koo 39 PE=TH 39
e 500 oo 40 PE=TH 32
e 500 Fitoo 42 PE=TH 27
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P 500 FHiod 43 PE=TH 7 28
P 500 FHiod 45 PE=TH 1 23
P 500 FHiod 46 PE=TH 7 26
P 500 FHiod 46 PE=TH 7 26
P 500 FHioo 47 PE=TH 7 30
P 500 FHiod 48 PE=TH 7 29
P 500 FHiod 51 PE=TH 7 31
P 500 FHiod 52 PE=TH 7 33
PE 502 FHio 1 PE=TH 7 40
PE 502 FHio 4 PE=TH 7 39
PR 502 FHio 5 PE=TH 7 39
PR 502 FHio 5 PE=TH 7 39
PR 502 FHio 5 PE=TH 7 39
PE 502 FHio 5 PE=TH 7 39
PE 502 FHio 5 PE=TH 7 39
PE 502 FHio 5 PE=TH 7 39
PE 502 FHio 5 PE=TH 7 39
PE 503 FHioO 6 PE=TH 7 43
PE 503 FHio 7 PE=TH 7 41
P 505 FHio 1 PE=TH 7 48
PE 505 FHio 3 PE=TH 7 51
PE 505 FHio 3 PE=TH 7 51
PE 505 FHio 3 PE=TH 7 51
PE 505 FHio 3 PE=TH 7 51
PE 510 FHio 3 PE=TH 7 16
PE 510 FHio 4 PE=TH 1 20
PE 510 FHio 4 PE=TH 1 20
PE 510 FHio 4 PE=TH 1 20
PE 510 FHio 4 PE=TH 1 20
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PE 510 FHio 5 PE=TH 1 20
PE 510 FHio 5 PE=TH 1 20
PE 510 FHio 5 PE=TH 1 22
PE 510 FHio 5 PE=TH 1 22
PE 510 FHio 5 PE=TH 1 22
PE 510 FHio 5 PE=TH 1 22
P 510 FHioo 10 PE=TH 1 59
P 510 FHioo 12 PE=TH 1 73
P 510 FHioo 14 PE=TH 1 74
P 510 FHioo 16 PE=TH 1 58
P 510 FHioo 18 PE=TH 1 62
P 510 FHioo 18 PE=TH 1 62
P 510 FHioo 19 PE=TH 1 61
P 510 FHiod 35 PE=TH 7 20
P 510 FHiod 35 PE=TH 7 20
PR 510 FHio 39 PE=TH 7 21
P 510 FHioo 41 PE=TH 7 22
P 510 FHioo 46 PE=TH 1 75
P 510 FHhoo 47 PE=TH 1 76
P 510 FHiod 48 PE=TH 1 77
PE 511 FHio 2 PE=TH 1 57
PE 515 FHio 1 MEZTH 22 3
PE 515 FHio 1 MEZTH 22 3
PE 515 FHio 1 MEZTH 22 3
PE 515 FHio 4 MEZTH 22 6
PE 515 FHio 6 PEZTH 22 5
PE 516 FHio 8 MEZTH 22 7
PE 516 FHio 8 MEZTH 22 7
PE 517 FHo 8 MEZTH 22 8
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PE 517 FHio 8 ME-TH 22 8
PE 518 FHio 1 ME-TH 22 1
PE 519 FHio 4 PME-TH 23 32
PE 519 FHio 5 PME-TH 23 31
PE 519 FHiO 6 MEZTH 23 30
PE 519 FHo 7 MEZTH 23 33
PR 520 Fh MEZTH 15 43
PR 520 FHio 3 MEZTH 23 13
PR 520 FHio 3 MEZTH 23 13
PE 520 FHio 3 MEZTH 23 13
PE 520 FHio 3 MEZTH 23 13
PE 520 FHio 3 MEZTH 23 13
PE 520 FHio 3 MEZTH 23 13
PE 520 FHio 3 MEZTH 23 13
PE 520 FHio 4 MEZTH 23 14
PE 520 FHio 4 MEZTH 23 14
PE 520 FHio 4 MEZTH 23 14
PE 520 FHio 4 MEZTH 23 14
PE 520 FHio 4 MEZTH 23 14
PE 520 FHio 4 MEZTH 23 14
PE 520 FHio 4 MEZTH 23 14
PE 520 FHho 7 PE=TH 1 81
PE 520 FHho 7 PE=TH 1 81
PE 520 FHho 7 PE=TH 1 81
P 520 FHioo 16 PE=TH 7 3
P 520 FHioo 17 PE=TH 7 4
P 520 FHiod 20 PE=TH 1 7
P 520 FHio 21 PE=TH 1 6
P 520 FHioo 23 MEZTH 23 7
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P 520 FHioo 23 ME-TH 23 7
PR 520 FHioD 24 ME-TH 23 8
PR 520 FHiod 25 PME-TH 23 10
P 521 FHioo 4 PeE=TH 7 5
PE 521 FHio 5 PE=TH 1 10
PR 522 FHio 1 PE=TH 1 14
PR 522 FHio 1 PE=TH 1 14
PR 523 FHio 1 PE=TH 1 16
P 523 FHiO 6 PE=TH 1 15
PE 524 FHio 4 PE=TH 1 17
PE 524 FHio 4 PE=TH 1 17
P 524 FHo 5 PE=TH 7 10
P 524 FHioO 6 PE=TH 7 9
P 524 FHio 6 PE=TH 7 9
PE 526 FHio 3 PE=TH 7 12
PR 527 FHio 1 PE=TH 7 13
PR 527 FHio 1 PE=TH 7 13
PR 527 FHio 1 PE=TH 7 13
PR 527 FHio 1 PE=TH 7 13
PE 531 FHio 4 PE=TH 7 8
P 547 FHio 1 MEZTH 23 3
P 547 FHio 4 ME-TH 23 2
PR 547 FHo 5 ME-TH 23 1
P 550 FHio 1 PHE-TH 18 14
P 550 FHio 1 PHE-TH 18 14
P 550 FHioo 1 PHE-TH 18 14
P 550 FHioo 1 PHE-TH 18 14
P 550 FHioo 1 PHE-TH 18 14
P 550 FHho 7 PMEZTH 17 10
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P 550 FHioo 13 MEZTH 17 5
P 550 FHiod 15 PEZTH 17  8-101
P 550 FHiod 15 PHEZTH 17 8-102
P 550 FHiod 15 PHEZTH 17  8-103
P 550 FHiod 15 PHEZTH 17  8-105
P 550 FHiod 15 PHEZTH 17 8-201
P 550 FHiod 15 PHEZTH 17  8-205
P 550 FHiod 15 PHEZTH 17 8-302
P 550 FHiod 15 PHEZTH 17  8-303
P 550 FHiod 15 PHEZTH 17  8-305
P 550 FHioo 17 MEZTH 17 16
P 550 FHiod 20 MHE-TH 18 5
P 550 FHioo 23 MHE-TH 18 3
P 550 FHiD 24 PHE-TH 18 2
P 550 FHiod 25 MEZTH 17 12
P 550 FHiod 29 MEZTH 17 15
P 550 FHid 30 MEZTH 17 14
P 550 FHid 36 MEZTH 17 13
P 550 FHio 39 PE-TH 18 16
P 550 FHid 40 PE-TH 18 15
P 550 FHiod 41 PE-TH 18 12
PE 554 FHioo 1 PMEZTH 19 18
P 554 FHo 2 PMEZTH 19 17
P 554 FHo 2 PMEZTH 19 17
PE 554 FHiod 5 PMEZTH 19 23
PE 554 FHod 5 PMEZTH 19 23
PE 554 FHod 5 PMEZTH 19 23
PE 554 FHod 5 PMEZTH 19 23
PE 554 FHod 5 PMEZTH 19 23
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P 554 FHiD 6 PEZTH 19 28
P 554 FHoo 7 PEZTH 19 27
PE 554 FHiod 9 PEZTH 19 15
PE 554 FHiod 9 PEZTH 19 15
PE 554 FHiod 9 PEZTH 19 15
P 554 FHio 10 PEZTH 19 12
P 554 FHioo 12 PEZTH 19 21
P 554 Fioo 13 PEZTH 19 25
P 555 FHio 3 PEZTH 19 1
P 555 FHiod 5 PE-TH 16 40
PE 555 FHio 9 PEZTH 19 3
P 555 FHiod 11 PEZTH 19 2
P 556 FHio 2 PE-TH 16 16
PE 556 FHiD 4 PE-TH 16 18
PE 556 FHiod 5 PE-TH 16 19
PE 556 FHHOD 6 PE-TH 16 20
P 556 FHio 7 PE-TH 16 21
PE 556 FHio 8 PE-TH 16 22
P 556 FHid 10 PE-TH 16 24
P 556 FHiod 11 PE-TH 16 34
P 556 FHid 12 PE-TH 16 26
PE 560 FHio 5 PE-TH 16 38
PE 560 FHio 5 PE-TH 16 38
PE 560 FHio 7 PEZTH 19 8
P 560 FHiod 11 PE-TH 16 35
P 560 FHiod 11 PE-TH 16 35
P 560 FHiod 23 PEZTH 19 4
P 560 FHiod 32 PMEZTH 19 11
PR 560 FHiD 34 PMEZTH 19 10
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P 560 FHiod 35 PEZTH 19 5
P 561 FHio 1 PEZTH 20 7
P 561 FHio 1 PEZTH 20 7
PE 561 FHio 1 PEZTH 20 7
P 561 FHio 1 PEZTH 20 7
P 561 FHio 1 PEZTH 20 7
P 561 FHio 4 PEZTH 20 5
PE 561 FHio 4 PEZTH 20 5
P 562 FHio 1 PEZTH 20 3
PE 562 FHio 3 PEZTH 20 8
P 562 FHiO 4 PEZTH 20 2
P 563 FHio 2 PEZTH 20 31
P 563 FHio 2 PEZTH 20 31
P 563 FHio 2 PEZTH 20 31
P 563 FHio 2 PEZTH 20 31
P 563 FHio 4 PEZTH 20 29
P 564 FHio 1 PH-TH 15 20-103
P 564 FHio 1 PH-TH 15 20-301
P 564 FHio 1 PH-TH 15 20-304
PE 565 FHio 1 PEZTH 15 15
P 565 FHio 2 PEZTH 15 12
P 565 FHi 4 PEZTH 15 2
PE 565 FHio 4 PMEZTH 15 2
PE 565 FHio 4 PEZTH 15 2
P 565 FHio 5 MEZTH 15 2
P 565 FHio 5 MEZTH 15 2
P 565 FHio 5 MEZTH 15 2
P 565 FHiod 16 PMEZTH 15 3
P 565 FHid 16 PMEZTH 15 3
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P 565 FHid 16 PMEZTH 15 3
P 565 FHiod 18 MEZTH 15 17
P 565 FHiod 20 MEZTH 15 7
P 565 FHiod 21 MEZTH 15 8
P 565 FHid 22 PMEZTH 15 10
P 565 FHid 22 PMEZTH 15 10
P 565 FHiD 24 PMEZTH 15 6
P 565 FHiD 24 PMEZTH 15 6
P 565 FHiod 26 PEZTH 15 5
PE 566 FHio 1 MEZTH 15 58
PE 566 FHiO 4 MEZTH 15 55
P 567 FHio 2 MEZTH 15 46
P 570 FHio 1 MEZTH 15 50
P 570 FHio 1 MEZTH 15 50
P 570 FHio 1 PMEZTH 15 50
P 570 FHioo 1 PMEZTH 15 50
P 570 FHioo 1 PMEZTH 15 50
P 570 FHioo 1 PMEZTH 15 50
P 570 FHioo 1 PMEZTH 15 50
PE 570 FHio 1 PMEZTH 15 50
PE 570 FHio 1 PMEZTH 15 50
PE 570 FHio 1 PEZTH 15 50
PE 570 FHio 1 PEZTH 15 50
PE 570 FHio 1 PEZTH 15 50
PE 570 FHiO 6 PEZTH 20 23
P 570 FHo 7 PEZTH 20 25
P 570 FHio 8 PEZTH 20 12
P 570 FHio 9 PEZTH 20 15
P 570 FHioo 10 PEZTH 20 17
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P 570 FHioo 10 PEZTH 20 17
P 570 FHioo 19 PEZTH 20 27
P 570 FHioo 19 PEZTH 20 27
P 570 FHioo 27 PEZTH 20 26
P 570 FHiod 35 PEZTH 20 11
P 570 FHioo 36 PEZTH 20 10
P 570 FHioo 37 PEZTH 20 9
P 570 FHiod 55 PEZTH 20 13
PR 571 &b PEZTH 20 19
PE 571 FHo 2 PEZTH 20 18
PE 571 FHo 2 PEZTH 20 18
P 571 FHio 3 PEZTH 20 20
PR 572 FHh MEZTH 15 33
PR 574 Fh MEZTH 15 30
PR 574 Fh MEZTH 15 30
PR 574 Fh MEZTH 15 30
PR 575 Fh MEZTH 15 32
PR 575 Fh MEZTH 15 32
PR 575 Fh MEZTH 15 32
P 575 FHio 3 PEZTH 14 20
P 575 FHio 4 PEZTH 14 17
P 575 FHio 4 PEZTH 14 17
P 575 FHio 5 PEZTH 14 12
P 575 FHHiO 6 PEZTH 14 13
P 575 FHioo 15 PEZTH 14 21
PR 576 Fhh MHEZTH 13 40
PE 576 FHio 1 MHEZTH 13 43
PE 576 FHio 2 MHEZTH 13 40
P 577 FHio 4 MHEZTH 13 34
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P 577 FHo 5 MHEZTH 13 35
PR 577 FHuoo 1002 MHEZTH 13 33
PR 580 Fhh MHEZTH 13 53
PR 580 Fhh MHEZTH 13 53
P 580 FHio 2 MHEZTH 13 51
P 580 FHio 2 PEZTH 14 10
PE 580 FHio 3 PEZTH 14 8
PE 580 FHiod 4 MHEZTH 13 47
PE 580 FHio 6 MHEZTH 13 19
P 580 FHioD 6 MHEZTH 13 19
P 580 FHioD 6 MHEZTH 13 19
PE 580 FHiD 6 MHEZTH 13 19
PE 580 FHiD 6 MHEZTH 13 19
P 580 FHi 6 MEZTH 13 20
P 580 FHi 6 MEZTH 13 20
P 580 FHi 6 MEZTH 13 20
PE 580 FHio 6 MEZTH 13 20
PE 580 FHhoo 7 MEZTH 13 71
PE 580 FHio 8 PEZTH 14 1
P 580 FHid 10 MEZTH 13 57
P 580 FHid 10 MEZTH 13 57
P 580 FHiod 23 MEZTH 13 46
P 580 FHid 45 MEZTH 13 27
P 580 FHid 46 MEZTH 13 29
P 580 FHid 48 PEZTH 14 11
P 580 FHid 48 PEZTH 14 11
P 584 FHioo 1 MEZTH 13 16
P 584 FHioo 1 MEZTH 13 16
P 584 FHioo 1 MEZTH 13 16
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P 584 FHod 5 MHEZTH 13 14
P 585 FHiod 1 MHEZTH 13 59
P 585 FHio 1 MHEZTH 13 63
P 585 FHiod 1 MHEZTH 13 63
P 585 FHiod 2 MHEZTH 13 11
PE 585 FHio 4 MHEZTH 13 4
P 585 FHiod 5 MHEZTH 13 63
P 585 FHiod 5 MHEZTH 13 63
P 585 FHiod 5 MHEZTH 13 63
P 585 FHiD 6 MHEZTH 13 58
P 585 FHid 13 MHEZTH 13 5
P 585 FHiod 13 MEZTH 13 5
P 585 FHiod 21 MHEZTH 13 6
P 585 FHiod 31 MEZTH 13 13
P 585 FHid 32 MEZTH 13 12
P 587 FHioo 1 MEZTH 13 65
PE 589 FHiD 6 MEZTH 13 70
PE 590 FHioo 1 MEZTH 13 66
PE 590 FHio 2 PE-TH 5 11
P 590 Fihod 3 PHEZTH 5 6
P 590 FHid 4 PH_TH 5 3
PE 590 FHio 5 PE-TH 5 13
PE 590 FHio 5 PE-TH 5 13
PE 590 FHio 8 PE-TH 4 16
P 590 FHid 10 PE-TH 4 14
P 590 T 11 PE-TH 4 25
e 590 Fitoo 23 PHEZTH 5 1
P 590 FHiod 25 PE-TH 5 19
PR 590 FHiod 26 PE-TH 5 18
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P 590 FHiod 26 PE-TH 5 18
P 590 FHiod 27 PE-TH 5 17
PR 590 FHid 30 PE-TH 5 14
e 590 Fitioo 32 PHEZTH 5 8
P 590 FHid 46 PE-TH 4 23
P 590 FHiod 47 PE-TH 4 15
P 590 FHiod 48 PE-TH 4 22
P 590 FHiod 48 PE-TH 4 22
P 590 FHiod 49 PE-TH 4 24
e 590 Fiioo 3102  PE-TH 5 7
PR 591 Fhh PE-TH 4 26
PE 591 FHo 2 PE-TH 4 13
PE 591 FHo 2 PE-TH 4 13
PE 591 FHio 8 PE-TH 4 12
PR 592 Fh PE-TH 4 28
PR 592 Fh PE-TH 4 28
PR 592 FHioo 1 PE-TH 4 11
PR 592 FHioo 1 PE-TH 4 11
PE 592 FHio 2 PE-TH 4 27
PR 597 Fh PE-TH 4 40
P 598 Z&Ht PH_TH 4 7
P 599 Z&Hh PH_TH 4 7
P 600 FHio 1 PHZTH 4 8
P 600 FHiD 2 PR/ _TH 6 1
P 600 Fio 3 PHEZTH 6 3
P 600 ZKHiD 4 PH_TH 6 6
P 600 Fio 5 PHEZTH 6 7
P 600 Fio 5 PHEZTH 6 7
P 600 Fiho 7 PHEZTH 6 9
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P 600 Fiho 7 PHEZTH 6 9
PE 600 FHio 7 PE-TH 6 11
PE 600 FHio 9 PE-TH 6 12
P 600 FHiod 13 PEZTH 12 3
P 600 FHiod 13 MEZTH 12 3
P 600 FHiod 13 MEZTH 12 3
P 600 FHiod 39 PE-TH 6 14
PR 600 FHiod 39 PE-TH 6 14
PR 600 FHiod 39 PE-TH 6 14
PE 601 FHio 1 PMEZTH 12 13
PE 601 FHio 1 PMEZTH 12 13
PE 601 FHio 1 PMEZTH 12 13
PE 601 FHio 1 PMEZTH 12 13
PE 601 FHio 1 PMEZTH 12 13
PE 604 FHioo 1 PMEZTH 12 19
PE 604 FHioo 1 PMEZTH 12 19
PE 604 FHo 2 PMEZTH 12 21
PR 605 &b PE-TH 16 6
PR 605 Fhh PE-TH 16 6
PR 605 Fhh PE-TH 16 6
PR 605 Fhh PE-TH 16 7
PR 605 Fhh PE-TH 16 7
PR 605 Fhh PE-TH 16 7
PE 605 FHio 1 PE-TH 16 5
PE 605 FHio 2 PE-TH 16 6
PE 605 FHio 2 PE-TH 16 6
PE 605 FHio 2 PE-TH 16 6
PE 605 FHio 2 PE-TH 16 6
PE 605 FHio 3 PE-TH 16 7
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PE 605 FHio 3 PE-TH 16 7
PE 605 FHio 5 MEZTH 17 30
PE 605 FHio 5 MEZTH 17 31
PE 605 FHioO 6 MEZTH 17 26
PE 605 FHio 7 PEZTH 11 29
PE 605 FHio 8 PEZTH 11 13
P 605 FHiod 10 PEZTH 11 39
P 605 FHiod 13 PE-TH 16 3
P 605 FHiO 14 PE-TH 16 2
P 605 FHiod 15 PE-TH 16 1
P 605 FHiod 15 PE-TH 16 1
P 605 FHioo 17 MEZTH 17 28
P 605 FHiod 22 PEZTH 11 19
P 605 FHiod 25 PEZTH 11 34
P 605 FHiod 26 PEZTH 11 35
P 605 FHioo 27 PEZTH 11 37
P 605 FHiod 28 PEZTH 11 38
P 605 FHiod 35 PEZTH 11 24
P 605 FHiod 35 PEZTH 11 24
P 605 FHiod 36 PEZTH 11 22
P 605 FHiod 38 PEZTH 11 25
P 605 FHiod 40 PEZTH 11 23
P 605 FHiod 41 PEZTH 11 43
P 605 FHiod 41 PEZTH 11 43
P 605 FHiod 41 PEZTH 11 43
P 605 FHiod 41 PEZTH 11 43
P 605 FHiod 41 PEZTH 11 43
P 605 FHiod 42 PEZTH 11 41
P 605 FHiod 48 PEZTH 11 15
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P 605 FHiod 53 PEZTH 11 26
PR 608 Fhh PHEZTH 11 3-102
PR 608 Fhh PHEZTH 11 3-105
PR 608 Fhh PHEZTH 11 3-110
PR 608 Fhh PEZTH 11 3-111
PR 608 Fhh PHEZTH 11 3-202
PR 608 Fhh PHEZTH 11 3-203
PR 608 Fhh PEZTH 11 3-204
PR 608 Fhh PHEZTH 11 3-205
PR 608 Fhh PHEZTH 11 3-206
PR 609 FHh PE-TH 6 12
PR 609 FHh PEZTH 11 51
PR 609 FHh PEZTH 11 52
PR 609 FHh PEZTH 11 52
PR 609 FHh PEZTH 11 53
PR 609 FHh PEZTH 11 53
PR 609 FHh PEZTH 11 53
PR 610 FHh PE-TH 7 16
PR 610 FHh PE-TH 7 21
P 610 FHio PE-TH 7 21
P 610 FHio PE-TH 7 12
P 610 FHio PE-TH 7 13
P 610 FHio PE-TH 7 13
P 610 FHio PE-TH 7 11
P 610 FHD PH_TH 7 6
P 610 FHio PE-TH 7 1-101
P 610 FHio PE-TH 7 1-105
P 610 FHio PE-TH 7 1-201
P 610 FHio PE-TH 7 1-203
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P 610 Fiho 7 PE-TH 1-203
P 610 Fiho 7 PETH 1-203
P 610 Fiho 7 PETH 1-203
P 610 Fio 7 PETH 1-205
P 610 Fio 7 PETH 1-301
P 610 Fio 7 PETH 1-303
P 610 ZHid 9 PH_TH 3
P 610 ZFHid 9 PH_TH 3
e 610 Fitioo 17 PETH 8
e 610 Fiioo 19 PETH 10
e 610 Fitioo 21 PETH 15
P 611 FHo 5 PETH 17
P 611 Fiho 7 PETH 15
P 611 Fiho 7 PETH 15
P 613 FZHiD 1 PH_TH 3
P 613 ZHiod 1 PH_TH 3
P 613 ZHiod 1 PH_TH 3
P 613 ZHiod 1 PH_TH 3
P 614 ZHiD 1 PH_TH 11
P 614 ZHiD 1 PH_TH 11
P 614 ZHiD 1 PH_TH 11
P 614 ZHiD 1 PR/ _TH 11
P 614 ZHiD 1 PR/ _TH 11
P 615 FZHiD 2 PR/ _TH 6
P 615 FZHiD 3 PR/ _TH 1
P 615 ZFHiod 4 PH_TH 28
PE 615 FHio 5 PE-TH 25-101
PE 615 FHio 5 PE-TH 25-103
PE 615 FHio 5 PE-TH 25-105
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PE 615 FHio 5 PE-TH 9  25-106
PE 615 FHio 5 PE-TH 9 25201
P 615 FHiod 7 PH_TH 9 5
P 615 FHiod 7 PH_TH 9 5
P 615 FHio 10 PE-TH 9 23
P 615 FHio 10 PE-TH 9 23
e 615 HiHioo 16 PHEZTH 9 7
P 615 FHioo 22 PE-TH 9 30
e 615 Fitioo 25 PHEZTH 8 8
e 615 Fitioo 25 PHEZTH 8 8
PE 616 FHio 1 PE-TH 9 21
PR 617 FHio 1 PE-TH 7 18
PR 618 Fih PE-TH 9 18
PR 618 Fih PE-TH 9 18
PE 618 FHio 1 PE-TH 9 19
PE 618 FHio 1 PE-TH 9 19
P 619 ZHh PETH 11 1
PE 620 FHio 3 PEZTH 11 8
PE 620 FHio 3 MEZTH 11 8
PE 620 FHio 3 PEZTH 11 8
PR 620 FHiod 10 MEZTH 17 1
PR 620 FHiod 12 MEZTH 17 37
PR 620 FHioo 13 MEZTH 17 3
P 620 FHiod 15 PEZTH 11 10
P 620 FHiod 15 PEZTH 11 10
PR 620 FHioo 17 MEZTH 17 35
P 620 FHiod 25 MEZTH 11 7
PR 624 FHioo 1 PEZTH 10 20

P/ _TH 10 23
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PE 624 FHo 5 PEZTH 10 22
PR 625 FHh PEZTH 10 5
PR 625 FHio 2 PEZTH 10 16
PR 625 FHio 2 PEZTH 10 16
PR 625 FHio 2 PEZTH 10 17
PR 625 FHio 2 PEZTH 10 17
PR 625 FHiO 6 PEZTH 10 13
PR 625 FHiO 6 PEZTH 10 16
PR 625 FHo 7 PEZTH 10 11
PR 625 FHio 8 PEZTH 10 10
P 625 FHio 10 PEZTH 10 8
P 625 FHio 10 PEZTH 10 8
P 625 FHio 10 PEZTH 10 8
P 625 FHio 10 PEZTH 10 8
P 625 FHio 19 PBRMET 24 12
P 625 FHio 20 PBRMET 24 9
P 625 FHio 21 PBRMET 24 5
P 625 FHioo 22 PBRMET 24 1
PR 625 FHiD 24 PBKRMET 19 1
P 625 FHio 25 PBRMET 19 5
PR 625 FHiod 25 PBKRMET 19 5
P 625 FHio 67 PBRMET 24 8
P 625 FHiod 69 PBRMET 24 7
P 625 FHiD 84 PHRMET 21 6
PR 625 FHiod 85 PBKRMET 20 31
P 625 FHio 88 PBKRMET 19 2
P 625 FHio 88 PBKRMET 19 2
P 625 FHiod 89 PBRMET 24 2
P 625 FHio 91 PHRMET 24 3
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PR 625 FHiod 92 PBRMET 24 4
P 625 FHio 95 PEZTH 10 21
P 625 FHiD 105 PBKRMET 16 22
P 625 FHio 117 PBRMET 24 10
P 625 FHio 117 PBRMET 24 10
PE 625 FHio 118 PBRMET 24 11
PE 625 FHio 121 PEZTH 10 9
P 625 FHid 147 PEZTH 10 18
PR 626 FHo 2 PUGRMET 5 5
P 626 FHO 3 PUGRMET 5 3
P 626 FHO 3 PUGRMET 5 3
P 626 FHID 4 PR RFAHT 5 2
P 626 FHID 5 PR RFAHT 5 1
PE 626 FHiO 6 PHRMET 2 19
PE 626 FHio 7 PHRMET 2 21
PE 626 FHio 8 PHRMET 2 22
PE 626 FHio 9 PHRMET 2 23
e 626 FiHioo 10 PERFET 9 1
P 626 FHio 11 PERFET 9 2
e 626 FHiioo 12 PERFET 9 3
e 626 Fiioo 13 PERFET 9 4
e 626 Fiioo 13 PERFET 9 4
e 626 FHioo 14 PERFET 9 5
e 626 FHioo 14 PERFET 9 5
e 626 Fiioo 17 PERFET 6 5
e 626 FKitioo 18 PERFET 6 3
e 626 Fiioo 19 PERFET 6 2
e 626 FHioo 20 PERFET 6 1
e 626 FHioo 20 PERFET 6 1
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P 626 FHio 21 PEKFIET 4 6
P 626 FHio 23 PBRMET 2 18
P 626 FiHioo 26 PERFET 5 9
P 626 FHioo 27 PHKRMET 5 10
PR 626 FHio 28 PHKRMET 5 11
PE 630 FHio 1 PE-TH 4 31
PE 630 FHio 1 PE-TH 4 31
PE 630 FHio 1 PE-TH 4 34
PE 630 FHio 1 PE-TH 4 34
PE 630 FHioo 1 PE-TH 4 34
PE 630 FHioo 1 PE-TH 4 34
PE 631 FHio 1 PHRMET 3 54
PE 631 FHio 4 PHRMET 3 52
PE 631 FHio 4 PHRMET 3 52
PE 631 FHio 5 PHRMET 3 43
PE 631 FHio 7 PHRMET 3 30
PE 631 FHioo 9 PHKRMET 6 35
P 631 FHio 10 PHKRMET 6 23
P 631 FHio 11 PBKRMET 9 16
P 631 FHio 18 PBKRMET 10 22
P 631 FHio 18 PBKRMET 10 22
PR 631 FHio 58 PHKRMET 9 19
PR 631 FHio 59 PHKRMET 9 18
P 631 FHid 60 PBKRMET 10 20
P 631 FHiod 62 PBKRMET 10 18
P 631 FHio 63 PBKRMET 10 17
P 631 FHioo 67 PHRMET 3 57
P 631 FHiod 68 PHRMET 3 56
P 631 FHio 71 PHRMET 3 53
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P 631 FHioo 72 PHKRMET 9 23
P 631 FHio 73 PHKRMET 9 15
P 631 FHio 76 PBKRMET 16 33
P 631 FHio 78 PBKRMET 16 35
P 631 FHio 79 PBKRMET 16 1
P 631 FHio 80 PBKRMET 10 25
P 631 FHio 80 PBKRMET 10 25
P 631 FHio 83 PBKRMET 10 23
PR 631 FHiod 85 PBKRMET 10 27
P 631 FHiod 86 PHKRMET 6 21
P 631 FHio 87 PHKRMET 6 22
P 631 FHio 91 PHKRMET 6 17
P 631 FHio 92 PBKRMET 10 16
P 631 FHio 93 PBKRMET 10 14
P 631 FHiod 96 PHRMET 3 33
P 631 FHiod 96 PHRMET 3 33
P 631 FHio 99 PHRMET 3 26
PE 631 FHio 101 PHRMET 3 28
PE 631 FHiD 105 PHRMET 3 31
P 631 FHlio 106 PHRMET 3 32
PE 631 FHio 109 PHKRMET 6 38
PE 631 o 110 PHKRMET 6 37
PE 631 FHio 113 PHKRMET 6 32
PE 631 FHio 114 PHKRMET 6 29
PE 631 o 116 PHKRMET 6 33
PE 631 FHio 121 PBKRMET 10 21
P 631 FHio 123 PBKRMET 10 26
P 631 FHio 128 PHKRMET 6 24
P 631 FHio 128 PHKRMET 6 24
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P 631 FHio 128 PHKRMET 6 24
PE 632 FHio 2 PE-TH 4 36
PE 634 FHioo 1 PBKRMET 16 29
PE 634 FHo 5 PBKRMET 16 31
PE 634 FHho 7 PBKRMET 16 30
PE 635 FHio 1 PBKRMET 16 27
PE 635 FHio 3 PBKRMET 16 24
PR 635 FHiO 6 PBKRMET 16 18
PE 635 FHio 9 PBRMET 19 22
P 635 FHio 31 PBRMET 20 19
P 635 FHio 33 PBRMET 19 26
P 635 FHio 33 PBRMET 19 26
P 635 FHiD 34 PBRMET 19 24
P 635 FHio 35 PBRMET 19 23
P 635 FHio 35 PBRMET 19 23
P 635 FHio 36 PBRMET 17 11
P 635 FHiod 42 PBRMET 17 10
P 635 FHIO 44 PBRMET 17 2
P 635 FHiod 48 PBKMET 16 25
P 635 FHio 49 PBRMET 17 3
P 635 FHio 50 PBRMET 17 9
P 635 FHio 50 PHRMET 17 9
P 635 FHio 51 PHRMET 17 4
P 635 FHio 51 PHRMET 17 4
P 635 FHio 51 PBRMET 17 4
P 635 FHiod 52 PHRMET 17 5
P 635 FHiod 52 PHRMET 17 5
P 635 FHio 52 PHRMET 17 5
P 635 FHiod 52 PHRMET 17 5
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P 635 FHio 53 PBRMET 17 8
P 635 FHio 57 PBKRMET 16 28
P 635 FHid 60 PBKRMET 16 26
P 635 FHIO 64 PBKRMET 16 21
P 635 FHIO 74 PBRMET 19 17
P 635 FHio 75 PBRMET 19 18
P 635 FHiod 76 PBRMET 19 16
P 635 FHio 78 PBRMET 19 14
P 635 FHio 79 PBRMET 19 13
P 635 FHio 82 PBRMET 19 12
P 635 FHio 82 PBRMET 19 12
PE 636 FHio 3 PBRMET 25 48
PR 637 FHio 1 PBRMET 20 24
PR 638 &b PURBKMET 20 29
PE 638 FHioo 1 PBKRMET 20 25
PE 638 FHioo 1 PBRMET 20 25
PE 638 FHio 5 PBRMET 20 30
PE 638 FHio 8 PBRMET 20 28
PR 643 FHio 4 PHRMET 21 10
PR 643 FHo 7 PHRMET 21 11
PR 643 FHo 7 PHRMET 21 11
PR 644 FHio 4 PHRMET 21 17
PR 644 FHio 4 PHRMET 21 17
PE 644 FHioO 6 PHRMET 21 19
P 645 ZHID 6 PH_TH 3 5
P 645 FZHID 7 PH_TH 3 8
PR 646 FHio 1 PBRMET 24 38
PE 646 FHio 4 PBRMET 24 26
P 646 FHio 16 PBRMET 24 40
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P 646 FHioo 17 PBRMET 24 41
P 646 FHiod 18 PBRMET 24 43
P 646 FHiod 25 PBRMET 24 36
P 646 FHio 28 PBRMET 24 33
P 646 T 31 PBRMET 24 32
P 646 T 31 PBRMET 24 32
P 646 FHiod 32 PBRMET 24 31
P 646 FHio 33 PBRMET 24 30
PR 646 FHiD 34 PBRMET 24 28
PR 647 FHio 1 PBRMET 24 23
PR 648 FHioo 1 PBRMET 24 22
P 650 FHiod 9 PHEZTH 1 8
e 650 Fiioo 10 PHEZTH 1 2
e 650 Fiioo 10 PHEZTH 1 5
P 650 FHiod 13 PE-TH 1 10
P 650 FHiO 14 PE-TH 1 16
P 650 FHiO 14 PE-TH 1 16
P 650 FHioo 37 PE-TH 1 1-101
P 650 FHioo 37 PE-TH 1 1-102
P 650 FHioo 37 PE-TH 1 1-103
P 650 FHiod 37 PE-TH 1 1-105
P 650 FHiod 37 PE-TH 1 1-203
P 650 FHioo 37 PE-TH 1 1-302
P 650 FHioo 37 PE-TH 1 1-306
P 650 FHiod 41 PE-TH 1 15
P 654 FHio 1 PETH 1 23
PE 654 FHo 2 PE-TH 1 24
PE 654 FHo 3 PE-TH 1 26
PE 654 FHo 3 PE-TH 1 26
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PE 654 FHo 3 PE-TH 1 26
PE 656 FHio 1 PE-TH 1 18
PE 658 FHio 1 PE-TH 1 22
P 659 FHio 1 PHEZTH 3 6
P 659 FHio 1 PHEZTH 3 6
PE 659 FHio 3 PE-TH 3 10
PE 659 FHio 3 PE-TH 3 10
PE 659 FHio 3 PE-TH 3 22
PE 660 FHio 4 PE-TH 3 13
PE 661 FHio 1 PE-TH 3 17
P 662 Fio 5 PHEZTH 2 6
PE 665 FHio 1 PBRMET 25 36
PE 665 FHio 1 PBRMET 25 37
PE 665 FHio 5 PBRMET 25 51
PE 665 FHio 8 PBRMET 25 22
PE 665 FHio 9 PBRMET 25 54
P 665 FHiod 10 PBRMET 25 58
P 665 FHiod 11 PBRMET 25 15
P 665 FHiod 13 PBRMET 25 13
P 665 FHiod 15 PBRMET 25 64
P 665 FHiod 18 PBRMET 25 65
P 665 FHiod 19 PBRMET 25 66
P 665 FHiod 29 PBRMET 25 53
P 665 FHiod 29 PBRMET 25 53
P 665 FHiod 31 PBRMET 25 63
P 665 FHiod 32 PBKRMET 25 55
P 665 FHiod 35 PBKRMET 25 62
P 665 FHiod 41 PBRMET 25 27
P 665 FHiod 43 PBRMET 25 26
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P 665 FHid 45 PBRMET 25 25
P 665 FHiod 47 PBRMET 25 24
P 665 FHiod 48 PBRMET 25 23
P 665 FHiod 53 PBRMET 25 52
P 665 FHid 60 PBRMET 25 18
P 665 FHID 64 PBRMET 25 19
P 665 FHID 64 PBRMET 25 19
P 665 FHiod 73 PBRMET 25 20
P 665 FHiod 77 PBKRMET 25 21
P 665 FHiod 87 PBKRMET 25 34
P 665 FHiod 91 PBKRMET 25 30
PE 665 o 101 PBKRMET 25 14
PE 665 FHiD 102 PBKRMET 25 16
PE 665 FHiD 103 PBKRMET 25 17
PE 666 FHio 1 PBKRMET 25 67
PE 666 FHio 1 PBKRMET 25 67
PR 667 &b PIRBAKRPET 25 3
PE 668 FHio 1 PBKRMET 25 72
PE 668 FHio 4 PBKRMET 25 1
PE 670 FHo 2 PHKRMET 18 16
PE 670 FHio 3 PHKRMET 18 15
PE 670 FHio 4 PHKRMET 18 26
PE 670 FHio 5 PHKRMET 18 27
PE 670 FHiO 6 PHKRMET 18 11
PE 670 FHo 7 PHKRMET 18 6
PE 670 FHio 8 PHKRMET 18 30
PE 670 FHio 9 PHKRMET 18 31
PE 670 FHio 9 PHKRMET 18 31
PE 670 FHio 9 PHKRMET 18 31
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PR 670 FHio 10 PHRMET 18 5
P 670 FHio 11 PHRMET 18 34
P 670 FHioo 12 PHRMET 18 32
P 670 FHioo 31 PHRMET 18 2
P 670 FHioo 31 PHKRMET 18 2
PR 670 FHiod 39 PHKRMET 18 24
P 670 FHiod 40 PHKRMET 18 3
P 670 FHioo 43 PHRMET 18 40
PR 670 FHioD 44 PHRMET 18 41
P 670 FHiod 45 PHRMET 18 1
P 670 FHiod 45 PHRMET 18 1
P 670 FHiod 46 PHRMET 18 28
P 670 FHiod 46 PHRMET 18 28
P 670 FHioo 47 PHRMET 18 29
P 670 FHiod 50 PHRMET 18 14
P 670 FHio 51 PHRMET 18 13
P 670 FHio 52 PHRMET 18 12
P 670 FHio 52 PHRMET 18 12
P 670 FHiod 54 PHRMET 18 9
PE 670 FHioo 1301 PEKMET 18 37
PE 670 FHioo 13002 PIEKMET 18 37
PR 671 FHo 3 PHKRMET 18 38
PR 671 FHio 4 PHKRMET 18 39
PR 672 FHio 1 PHRMET 8 39
PR 672 FHio 1 PHRMET 8 39
PR 672 FHio 1 PHRMET 8 39
PR 672 FHio 2 PHRMET 8 40
PE 673 FHioo 1 PHRMET 8 33
PE 673 FHioo 1 PHRMET 8 33
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PR 673 FHio 3 PHKRMET 8 30
PR 673 FHio 4 PHRMET 8 29
PE 674 FHo 3 PHRMET 8 25
PR 674 FHio 4 PHRMET 8 27
PE 674 FHo 5 PHRMET 8 28
PR 675 FHio 1 PHRMET 8 41
PR 675 FHio 3 PHRMET 8 43
PR 675 FHio 4 PHRMET 8 44
PE 675 FHio 8 PHRMET 8 19
PR 675 FHio 9 PHRMET 8 47
P 675 FHio 10 PHRMET 8 48
P 675 FHioo 11 PHRMET 8 16
P 675 FHioo 12 PHRMET 8 15
P 675 FHioo 12 PHRMET 8 15
e 675 FiHioo 16 PR 8 5
e 675 Fiioo 17 PR 8 3
e 675 Fiioo 17 PR 8 3
e 675 Fitioo 18 PR 8 2
e 675 Fitioo 18 PR 8 2
e 675 Fiioo 19 PR 8 1
e 675 Fiioo 19 PR 8 1
e 675 Fiioo 19 PR 8 1
P 675 FHio 23 PHRMET 8 53
P 675 FHiD 24 PHRMET 8 54
P 675 FHio 25 PHRMET 8 56
P 675 FHioo 26 PHRMET 8 58
P 675 FHhoo 27 PHRMET 8 59
P 675 FHio 28 PHRMET 8 60
PR 675 FHio 29 PHRMET 8 62
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P 675 FHio 29 PHKRMET 8 62
P 675 FHio 29 PHRMET 8 62
e 675 Fiioo 47 PR 8 9
e 675 Fiioo 47 PR 8 9
P 675 FHioo 48 PHRMET 8 10
P 675 FHioo 48 PHRMET 8 10
P 675 FHio 50 PHRMET 8 55
P 675 FHio 51 PHRMET 8 17
P 675 FHiod 52 PHRMET 8 50
P 675 FHiod 59 PHRMET 8 22
P 675 FHiod 60 PHRMET 8 57
P 675 FHio 61 PHRMET 8 11
P 675 FHhioo 77 PHRMET 8 14
P 675 FHio 80 PHRMET 8 20
P 675 FHio 81 PHRMET 8 45
P 675 FHio 83 PHRMET 8 51
P 675 FHio 88 PHRMET 8 23
P 675 FHio 89 PHRMET 8 24
PE 676 FHo 7 PBRMET 23 6
PE 676 FHio 8 PBRMET 22 8
PE 676 FHio 9 PBRMET 22 7
P 676 FHio 10 PBRMET 22 5
P 676 FHiod 15 PBKRMET 20 34
P 676 FHiod 15 PBKRMET 20 34
P 676 FHid 16 PBKRMET 20 36
P 676 FHiod 20 PBRMET 12 27
P 676 FHiod 20 PBRMET 12 27
P 676 FHio 21 PBRMET 12 25
P 676 FHio 21 PBRMET 12 26
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P 676 FHio 23 PBRMET 13 4
P 676 FHio 29 PBKRMET 14 1
P 676 FHiod 30 PBKRMET 10 33
P 676 FHiod 30 PBKRMET 10 33
P 676 FHio 39 PHRMET 3 58
P 676 FHiD 44 PHRMET 2 1
PE 676 FHid 103 PHRMET 3 11
PE 676 FHid 103 PHRMET 3 11
PE 676 FHid 103 PHRMET 3 11
PE 676 FHid 103 PHRMET 3 11
PE 676 FHid 103 PHRMET 3 11
P 676 FHiD 105 PHRMET 3 13
P 676 FHiD 105 PHRMET 3 13
PE 676 FHio 109 PHRMET 3 10
e 676 Fitioo 111 PR3 8
e 676 FHioo 115 PR3 6
PE 676 o 174 PBKRMET 9 30
PE 676 o 174 PBKRMET 9 30
P 676 FHiD 175 PBKRMET 10 10
P 676 o 176 PBKRMET 10 9
P 676 FHid 177 PBKRMET 10 8
P 676 FHid 177 PBKRMET 10 8
PE 676 FHid 178 PBKRMET 10 3
P 676 & 179 PBKRMET 10 1
P 676 FHio 180 PBKRMET 10 7
PE 676 o 181 PBKRMET 10 6
P 676 FHid 182 PHRMET 9 24
P 676 FHid 183 PHKRMET 9 25
P 676 FHio 184 PHKRMET 9 26
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P 676 FHiD 185 PHKRMET 9 27
PR 676 FHiD 185 PHKRMET 9 27
P 676 FHid 187 PBKRMET 10 5
PR 676 FHid 188 PBKRMET 10 4
PE 676 FHio 189 PBKRMET 10 2
P 676 o 191 PBKRMET 10 34
P 676 FHid 193 PBKRMET 10 32
P 676 FHid 193 PBKRMET 10 32
PE 676 i 194 PBKRMET 10 28
PE 676 i 194 PBKRMET 10 30
PE 676 FHid 203 PBKRMET 10 35
PE 676 o 204 PHRMET 11 1
PE 676 FHio 209 PBKRMET 14 12
PE 676 FHio 209 PBKRMET 14 12
P 676 o 210 PHKRMET 15 1
P 676 FHio 212 PHKRMET 15 2
P 676 o 214 PHKRMET 15 3
PE 676 o 216 PBRMET 14 10
P 676 FHid 217 PBKRMET 14 11
P 676 FHid 218 PBKRMET 14 2
PE 676 FHio 218 PBKRMET 14 2
PE 676 o 219 PBKRMET 14 4
PE 676 i 220 PHKRMET 11 5
P 676 o 221 PHRMET 11 4
P 676 o 224 PHRMET 11 3
P 676 FHid 227 PHRMET 1 15
P 676 FHid 228 PHRMET 3 60
P 676 FHid 228 PHRMET 3 60
e 676 oo 230 PERFET 1 9
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P 676 FHid 232 PHRMET 21 20
P 676 o 234 PHRMET 21 22
PE 676 o 236 PHRMET 21 24
P 676 FHid 237 PHRMET 21 25
P 676 FHid 238 PHRMET 21 1
P 676 FHioo 239 PHRMET 21 2
PE 676 FHio 239 PHRMET 21 2
PE 676 i 240 PBRMET 21 3
P 676 FHio 241 PHRMET 21 4
PE 676 FHid 242 PHRMET 21 5
P 676 i 246 PBKMET 20 9
PE 676 & 254 PBRMET 22 1
P 676 FHid 255 PBRMET 22 2
PE 676 i 256 PBRMET 22 3
PE 676 FHid 257 PBRMET 22 6
P 676 FHiD 268 PBRMET 22 9
P 676 FHid 268 PBRMET 22 9
P 676 o 274 PBRMET 22 10
P 676 & 281 PBRMET 23 3
PE 676 FHid 282 PBRMET 23 2
P 676 FHid 283 PHRMET 23 1
P 676 FHid 287 PBRMET 22 4
P 676 FHid 288 PBRMET 20 40
P 676 FHid 288 PBRMET 20 40
P 676 o 291 PBRMET 20 32
P 676 o 294 PBRMET 20 39
P 676 FHid 312 PBRMET 20 38
P 676 FHid 312 PBRMET 20 38
e 676 FiHioo 317 PR3 4

_45_




RS

Bl

=]

%

%

T & HT * &l e i =
e 676 Fitiod 319 PERFET 3 2
e 676 FiHioo 327 PERFET 3 3
e 676 oo 330 PR 2 5
P 676 FHiod 349 PR 2 7
P 676 FHiod 349 PR 2 7
P 676 FHio 354 PBRMET 12 17
P 676 FHid 358 PHKRMET 15 4
P 676 o 361 PBRMET 14 8
P 676 o 361 PBKRMET 14 9
P 676 FHid 362 PBRMET 14 5
P 676 FHid 367 PHKRMET 11 6
PE 676 o 371 PBRMET 13 8
P 676 FHid 375 PHRMET 12 5
PE 676 FHio 376 PHRMET 13 10
P 676 FHid 378 PHRMET 12 13
PE 676 FHio 379 PHRMET 12 7
PE 676 FHio 379 PHRMET 12 7
PE 676 FHio 379 PHRMET 12 7
PE 676 FHio 379 PHRMET 12 7
PE 676 FHid> 380 PHKRMET 13 5
PE 676 FHio 381 PHRMET 13 7
P 676 FHid 383 PBRMET 12 4
P 676 FHio 384 PBRMET 13 1
P 676 FHio 384 PHRMET 13 2
PE 676 FHio 384 PHRMET 13 11
P 676 FHio> 386 PHRMET 12 15
P 676 & 391 PHRMET 12 1
PE 676 FHio 399 PHKRMET 9 28
P 676 FHid 402 PBRMET 20 35
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P 676 FHid 402 PBKRMET 20 35
P 676 FHid 402 PBKRMET 20 35
P 676 o 404 PBKRMET 20 33
P 676 o 414 PBRMET 13 12
P 676 FHid 418 PBRMET 13 13
P 676 i 420 PBRMET 13 14
P 676 o 421 PBRMET 13 15
PR 676 FHid 437 PBKRMET 20 8
P 676 o 441 PBRMET 2 10
P 676 FHiod 445 PR 2 8
P 676 FHid 448 PBRMET 12 31
P 676 oD 456 PR3 9
P 676 FHid 462 PBRMET 23 5
P 676 FHid 462 PBRMET 23 5
PE 676 o 501 PHRMET 11 2
e 676 oD 556 PUEKFET 4 8
e 676 D 556 PEKFET 4 8
PE 676 FHiod 557 PEKFET 4 3
P 676 FHid 558 PHKRMET 4 10
P 676 FHid 558 PHRMET 4 10
P 676 FHid 558 PHRMET 4 10
PE 676 ZHid> 559 PBKRMET 4 11
e 676 FHiiod 560 PEKFET 4 1
P 676 o 561 PHRMET 2 11
P 676 FHiD 562 PHRMET 2 13
P 676 FHid 563 PHRMET 2 14
P 676 FHid 563 PHRMET 2 14
P 676 FHiD 565 PHRMET 2 15
P 676 FHid 566 PHRMET 2 17
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PR 677 FHio 1 PHRMET 7 10
PR 677 FHio 1 PHRMET 7 10
PR 678 FHio 1 PHRMET 7 15
PE 679 FHio 1 PHRMET 7 16
PR 680 i PIRRMET 7 2
PR 680 FHD 1 PUGRMET 7 5
PR 693 Fh MNE—TH 1 32
P 693 FHio 1 PeE—TH 1 8
PR 694 FHuoo 101 MNH—TH 1 31
PR 695 &b MNE—TH 1 10
PR 695 &b MNE—TH 1 10
PR 695 &b MNE—TH 1 10
P 695 FHD 3 PR —TH 1 7
PR 695 FHioo 101 MNH—TH 1 9
P 696 FHH1D 2 PR —TH 1 6
P 697 FHiD 1 PR —TH 1 5
P 697 FHiD 1 PR —TH 1 5
PR 698 Fhh MNH—TH 1 3
PR 698 Fhh MNH—TH 1 3
PR 698 Fhh MNH—TH 1 71
PR 698 Fhh MNH—TH 1 71
P 698 FHiod 19 PNH—TH 1 2
PE 700 FHio 2 PNH—TH 1 17
PE 700 FHio 2 PNH—TH 1 17
PE 700 FHio 2 PNH—TH 1 17
PR 700 FHioo 19 MNH—TH 1 64
PR 700 FHioo 20 MNH—TH 1 63
P 700 FHioo 21 MNH—TH 1 62
P 700 FHioo 22 MNH—TH 1 60
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e 700 Fitioo 23 PE—TH 59
e 700 Fiod 24 PE—TH 58
P 700 FHD 2004 PR/ —TH 16
P 701 & Hh P/ —TH 15
P 702 & Hh P/ —TH 27
P 703 FHo 5 PE—TH 30
P 705 & Hh P/ —TH 34
P 708 &t P/ —TH 12
P 708 Fiho 2 PE—TH 31
P 708 Fiho 2 PE—TH 31
P 710 Fiho 2 PE—TH 19
P 710 Fiho 2 PE—TH 20
P 710 Fiho 2 PE—TH 20
P 710 FHiod 9 PR —TH 6
e 710 Fiioo 12 PE—TH 7
e 710 Fiioo 12 PE—TH 7
P 710 FHioo 13 PE—TH 10-1C
P 710 FHioo 13 ME—TH 10-3B
PR 710 FHioo 14 PE—TH 10-1B
PR 710 FHioo 14 PE—TH 10-2A
PR 710 FHioo 14 ME—TH 10-2C
P 710 FHioo 14 MH—TH 10-2D
P 710 FHioo 14 MH—TH 10-3A
P 710 FHioo 14 MH—TH 10-3C
P 710 FHioo 14 MH—TH 10-3D
P 710 FHioo 14 MH—TH 10-3D
P 714 FZHioo 1 PR/ —TH 11
P 714 FHioD 2 PR/ —TH 14
P 715 Z&Hh PR/ —TH 15
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P 715 &t PR/ —TH 15
P 715 FHo 1 PE—TH 10
P 715 FHiD 2 PR/ —TH 9
P 716 FHioD 2 PR/ —TH 7
P 717 F&Hh P/ —TH 5
P 717 F&Hh P/ —TH 6
P 717 FHiod 3 PR/ —TH 2
P 718 FHh P/ —TH 1
P 720 & Hh P/ —TH 30
P 720 FHho 2 PE—TH 29
P 721 FHoo 1 PE—TH 3
P 722 FHo 1 PE—TH 6
P 722 FHho 2 PE—TH 7
P 722 FHho 2 PE—TH 7
P 723 FHho 2 PE—TH 10
P 725 F&Hh P/ —TH 3
P 726 O 1 PR —TH 1
P 727 FHo 1 PE—TH 15
P 727 FHo 1 PE—TH 15
P 727 FHho 2 PE—TH 14
P 728 FHh PR/ —TH 13
P 728 FHh PR/ —TH 13
PR 728 Fh MNHE—TH 13-201
PR 728 Fh MNHE—TH 13-202
PR 728 Fh MNHE—TH 13-203
PR 728 Fh MNHE—TH 13-301
PR 728 Fh MNHE—TH 13-303
PR 728 Fh MNHE—TH 13-402
P 730 FHio 1 PE—TH 5

_50_




RS

Bl

=]

RS

%

T & HT * &l e i =
PR 730 FHo 2 MNE—TH 6 26
P 730 Fiho 3 PeE—TH 4 7
PR 730 FHio 4 MNH—TH 4 24
PR 730 FHio 4 MNH—TH 4 25
PR 730 FHio 4 MNH—TH 4 25
PR 730 FHio 4 MNH—TH 4 26
PR 730 FHio 9 MNH—TH 5 29
e 730 FHioo 10 PE—TH 5 3
P 730 FHioo 13 MNH—TH 6 28
P 730 FHioo 13 MNH—TH 6 28
PR 730 FHioO 14 MNH—TH 6 27
PR 730 FHioO 14 MNH—TH 6 27
P 730 FHioo 15 MNH—TH 4 5
P 730 FHioo 16 MNH—TH 4 6
P 730 FHioo 18 MNHE—TH 4 19
P 730 FHioo 19 MNHE—TH 5 30
P 730 FHio 21 MNHE—TH 5 1
PR 730 FHioo 23 MNHE—TH 5 8
PR 730 FHioo 24 MNHE—TH 5 7
P 730 FHioo 26 MNHE—TH 5 5
P 730 FHhoo 27 MNHE—TH 4 22
P 730 FHioo 33 PNH—TH 4 15
P 730 FHioo 34 PNH—TH 4 17
P 730 FHio 35 PNH—TH 4 16
P 730 FHio 35 PNH—TH 4 16
P 730 FHioo 40 MNH—TH 6 23
PR 731 FHo 2 MNH—TH 5 14
PR 731 FHo 2 MNH—TH 5 14
PR 731 FHo 8 MNH—TH 5 11

_51_




RS

Bl

=]

RS

%

T & HT * &l e i =
P 731 FHioo MNE—TH 5 11
P 731 FHioo MNE—TH 5 11
P 732 FHioo MNH—TH 7 54
P 732 FHioo MNH—TH 7 53
P 732 FHioo MNH—TH 7 52
P 732 FHioo MNH—TH 7 51
P 733 FHioD MNH—TH 7 40
PR 734 FHio MNH—TH 7 56
P 736 FHt P/ —TH 7 6
P 737 FHh P/ —TH 7 8
PR 738 Fhh MNE—TH 7 12
PR 739 FHh MNE—TH 7 13
P 740 FHD PR —TH 8 1
P 752 FHioD MNH—TH 7 30
P 752 FHioD MNHE—TH 7 29
P 753 FHioD MNHE—TH 7 33
P 755 FHioD MNHE—TH 7 38
P 756 FHioD MNHE—TH 7 48
P 756 FHioD MNHE—TH 7 47
P 757 FHioD MNHE—TH 7 50
P 758 FHioD MNHE—TH 5 15
PR 759 FHh MNHE—TH 5 21
P 761 FHio PNH—TH 5 23
P 761 FHio PNH—TH 5 24
P 761 FHio PNH—TH 5 24
P 761 FHio MNH—TH 5 25
P 761 FHio MNH—TH 5 25
P 761 FHio MNH—TH 5 27
P 763 FHioD MNH—TH 9 43
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P 764 FHho 3 PeE—TH 9 5
P 764 FHho 5 PeE—TH 9 8
PE 764 FHO 6 MNH—TH 9 10
PE 764 FHo 7 MNH—TH 9 11
PE 764 FHo 7 MNH—TH 9 11
PE 764 FHo 8 MNH—TH 9 12
PE 764 FHio 9 MNH—TH 9 13
P 764 FHio 10 MNH—TH 9 14
P 764 Fio 11 MNH—TH 9 16
P 764 FHio 12 MNH—TH 9 15
PR 768 Fhh MNE—TH 9 20
PE 769 FHio 3 MNH—TH 9 25
PE 769 FHio 4 MNH—TH 9 24
PE 769 FHio 5 MNH—TH 9 23
PE 769 FHio 5 MNHE—TH 9 23
PE 770 FHo 2 MNHE—TH 9 27
PR 780 Fhh PHE—TH 10 1
PR 780 FHioo 1 PE—TH 11 27
PR 780 FHhoo 2 PE—TH 11 26
PE 780 FHho 3 PE—TH 11 25
PE 780 FHhoo 7 PHE—TH 10 20
P 780 FHiod 12 PHE—TH 10 18
P 780 FHioo 13 PHE—TH 10 17
P 780 FHioo 21 PE—TH 11 18
P 780 FHiod 22 PE—TH 11 23
P 780 FHiod 25 PHE—TH 10 19
P 780 FHiod 25 PHE—TH 10 19
P 780 FHiod 26 PE—TH 11 16
P 780 FHioo 27 PE—TH 11 15
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P 780 FHioo 28 PHE—TH 10 21
P 780 FHiod 29 PHE—TH 10 22
P 780 FHioo 31 PE—TH 11 14
P 780 FHioo 31 PE—TH 11 14
P 780 FHiod 32 PE—TH 11 13
P 780 FHiod 33 PE—TH 11 12
P 780 FHid 34 PE—TH 11 11
P 780 FHid 35 PE—TH 11 10
P 780 FHiod 36 PE—TH 11 9
P 780 FHiod 36 PE—TH 11 9
P 780 FHiod 37 PE—TH 11 7
P 780 FHioo 37 PE—TH 11 8
P 780 FHiod 39 PE—TH 11 6
P 780 FHid 40 PE—TH 11 4
P 780 FHiod 41 PE—TH 11 3
P 780 FHiod 42 PE—TH 11 2
P 780 FHiD 44 PE—TH 10 16
PR 780 FHiD 44 PE—TH 10 16
P 780 FHiod 46 PE—TH 10 14
P 780 FHiod 48 PE—TH 10 12
P 780 FHid 50 PE—TH 10 10
P 780 FHiod 51 PHE—TH 10 8
P 780 FHid 52 PHE—TH 10 7
P 780 FHiod 53 PE—TH 10 6
P 780 FHid 55 PHE—TH 10 5
P 780 FHid 55 PHE—TH 10 5
P 780 FHid 56 PHE—TH 10 3
P 780 FHid 59 PE—TH 11 28
P 780 FHiod 81 PE—TH 11 5
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PR 780 FHid 92 PE—TH 11 20
PR 781 FHho 2 PHE—TH 10 13
PR 790 FHio 1 PHE—TH 14 1
PR 790 FHioo 1 PHE—TH 14 1
PE 790 FHo 3 PE—TH 14 12
PE 790 FHo 3 PE—TH 14 12
PE 790 FHo 3 PE—TH 14 12
PE 790 FHio 4 PHE—TH 13 38
PE 790 FHioO 6 PHE—TH 13 36
PE 790 FHioO 6 PHE—TH 13 36
PE 790 FHioO 6 PHE—TH 13 36
PE 790 FHioO 6 PHE—TH 13 36
PE 790 FHioO 6 PHE—TH 13 37
PE 790 FHioO 6 PHE—TH 13 37
PE 790 FHioO 6 PHE—TH 13 37
PE 790 FHhoo 7 PHE—TH 13 37
PR 790 FHio 8 PHE—TH 13 31
PR 790 FHio 8 PHE—TH 13 31
PR 790 FHio 8 PHE—TH 13 31
PR 790 FHio 8 PHE—TH 13 31
PE 790 FHioo 9 PHE—TH 13 30
PE 790 FHioo 9 PHE—TH 13 30
PR 790 FHio 10 PHE—TH 13 28
PR 790 FHioo 10 PHE—TH 13 28
P 790 FHiod 20 PHE—TH 13 29
P 790 FHioo 22 PHE—TH 14 11
PR 790 FHiod 24 PHE—TH 13 39
P 790 FHioo 25 PHE—TH 13 1
PR 790 FHiod 26 PHE—TH 14 10

_55_




RS

Bl

=]

T & HT * &l e i =
P 790 FHioo 27 PE—TH 14 9
P 790 FHioo 28 PHE—TH 14 8
PR 790 FHioo 29 PE—TH 14 7
P 790 FHiod 45 PHE—TH 13 33
PR 791 FHh PHE—TH 13 27
PR 791 FHo 5 PHE—TH 13 26
PR 791 FHO 6 PHE—TH 13 25
PR 791 FHo 8 PHE—TH 13 24
PR 792 FHo 3 PHE—TH 13 21
PR 792 FHio 4 PHE—TH 13 22
PR 792 FHO 6 PHE—TH 13 23
PR 792 FHO 6 PHE—TH 13 23
PR 793 FHioo 1 PHE—TH 13 19
PR 793 FHo 2 PHE—TH 13 20
PR 794 FHo 4 PHE—TH 13 17
PR 795 FHio 1 PHE—TH 12 11
PE 796 FHio 1 PHE—TH 12 8
PE 796 FHo 5 PHE—TH 12 10
PR 797 FHioo 1 PHE—TH 12 7
PR 797 FHio 1 PHE—TH 12 7
PR 797 FHio 1 PHE—TH 12 7
PR 797 FHio 1 PHE—TH 12 7
PR 797 FHioo 1 PHE—TH 12 7
PR 797 FHo 7 PHE—TH 12 5
PR 798 FHio 1 PHE—TH 16 17
PR 798 FHho 2 PHE—TH 16 15
PR 798 FHo 3 PHE—TH 16 11
PR 798 FHio 4 PHE—TH 16 18
PE 800 FHiod 1 PHE—TH 16 10
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PR 800 FHiod 1 PHE—TH 16 10
PE 800 FHiod 1 PHE—TH 16 10
PE 800 FHiod 2 PHE—TH 16 8
PE 800 FHiod 3 PHE—TH 16 7
PE 800 FHiod 4 PHE—TH 16 6
PE 800 FHiod 5 PHE—TH 16 27
PE 800 FHio 6 PHE—TH 15 6
PE 800 FHid 6 PHE—TH 16 2
PE 800 FHhod 7 PHE—TH 16 29
PE 800 FHio 8 PHE—TH 15 13
PE 800 FHiod 9 PHE—TH 15 16
P 800 FHid 10 PHE—TH 15 6
P 800 FHiod 11 PHE—TH 16 26
P 800 FHiod 12 PHE—TH 16 23
P 800 FHiod 15 PHE—TH 16 1
P 800 FHiod 16 PHE—TH 16 31
P 800 FHiod 16 PHE—TH 16 31
P 800 FHid 19 PHE—TH 15 9
P 800 FHid 20 PHE—TH 15 10
P 800 FHid 21 PHE—TH 15 11
P 800 FHid 22 PHE—TH 15 12
P 800 FHiod 23 PHE—TH 16 30
P 800 FHid 26 PHE—TH 15 14
P 800 FHiod 27 PHE—TH 15 17
P 800 FHid 30 PHE—TH 15 7
P 800 FHid 30 PHE—TH 15 7
P 800 FHiod 31 PHE—TH 16 5
P 800 FHiod 33 PHE—TH 16 24
PR 800 FHid 34 PHE—TH 16 28
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PR 800 FHid 34 PHE—TH 16 28
P 800 FHid 36 PHE—TH 16 3
P 800 FHiod 37 PHE—TH 15 5
P 800 FHiod 43 PHE—TH 16 21
P 800 FHiod 43 PHE—TH 16 21
PE 801 FHio 1 PHE—TH 15 19
PE 801 FHio 1 PHE—TH 15 19
PE 801 FHio 3 PHE—TH 15 3
PE 801 FHio 3 PHE—TH 15 4
PE 801 FHio 4 PHE—TH 15 18
PE 802 FHiod 1 PHE—TH 15 1
PR 802 FHio 2 PHE—TH 15 21
PR 802 FHio 3 PHE—TH 15 20
PE 802 FHio 4 PHE—TH 15 22
PE 803 FHio 1 PHE—TH 17 46
PR 803 FHio 2 PHE—TH 17 1
PE 803 FHio 3 PHE—TH 17 3
PE 803 FHio 5 PHE—TH 17 2
P 804 ZHh PR —TH 17 7
PR 804 FHiod 1 PHE—TH 17 5
PR 804 FHhoo 2 PHE—TH 17 6
PR 805 FHiod 1 PHE—TH 17 8
PR 805 FHio 2 PHE—TH 17 10
PE 806 FHiod 1 PHE—TH 17 45
PE 806 FHiod 3 PHE—TH 17 40
PE 806 FHiod 5 PHE—TH 17 41
PE 806 FHi 6 PHE—TH 17 43
PE 806 FHiod 9 PHE—TH 17 44
PR 807 FHiod 1 PNHE—TH 18 65
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PE 807 FHio 3 PNHE—TH 18 2
PE 808 FHiod 1 PNHE—TH 18 59
PE 808 Fiiod 2 PNHE—TH 18 61
PE 808 Fiiod 3 PNHE—TH 18 62
PR 810 Fhh PHE—TH 17 24
PR 810 FHioo 1 PNHE—TH 18 3
PE 810 FHio 2 PHE—TH 17 38
PE 810 FHio 3 PHE—TH 17 13
PE 810 FHio 4 PHE—TH 17 18
PE 810 FHio 6 PHE—TH 17 39
PE 810 FHho 7 PHE—TH 17 22
P 810 FHiod 10 PHE—TH 17 17
P 810 FHiod 10 PHE—TH 17 25
P 810 FHiod 13 PHE—TH 17 16
P 810 FHiod 16 PNHE—TH 18 6
P 810 FHiod 17 PHE—TH 18 5
P 810 FHiod 17 PNHE—TH 18 5
P 810 FHiod 19 PHE—TH 17 35
P 810 FHiod 20 PHE—TH 17 21
P 810 FHiod 32 PHE—TH 17 12
P 810 FHhiod 33 PHE—TH 17 11
PR 810 FHid 34 PHE—TH 17 37
PR 812 FHio 1 PHE—TH 17 27
PR 812 FHio 1 PHE—TH 17 27
PR 812 FHho 2 PHE—TH 17 29
PR 812 FHho 2 PHE—TH 17 30
PR 813 FHio 1 PHE—TH 17 33
PR 813 FHio 2 PHE—TH 17 31
PR 813 FHo 7 PHE—TH 17 32
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PE 813 FHio 8 PHE—TH 17 34
PR 814 FHio 1 PNHE—TH 18 7
P 814 FHhod 4 PR/ —TH 18 8
PE 814 FHo 5 PNHE—TH 18 9
PE 814 FHio 9 PNHE—TH 18 10
PR 815 FHio 1 PNHE—TH 18 13
PR 815 FHio 3 PNHE—TH 18 11
P 815 FHiD 14 PNHE—TH 18 12
PE 816 FHho 2 PNHE—TH 18 29
PR 817 Fhh PNHE—TH 18 27
PR 817 FHo 2 PNHE—TH 18 25
PR 817 FHo 3 PNHE—TH 18 24
PR 817 FHo 5 PNHE—TH 18 23
PE 818 FHiod 1 PNHE—TH 18 53
PR 818 FHiod 2 PHE—TH 18 57
PE 818 FHio 3 PHE—TH 18 58
PE 818 FHio 3 PHE—TH 18 58
PE 818 FHiod 5 PHE—TH 18 52
PE 818 FHiod 6 PHE—TH 18 51
PR 818 FHod 7 PHE—TH 18 50
P 818 FHid 10 PHE—TH 18 54
P 818 FHid 10 MNHE—TH 18 54
P 818 FHiod 12 MNHE—TH 18 55
P 818 FHid 15 MNHE—TH 18 56
PR 820 Fhh PNHE—TH 18 31
PR 821 Fhh PNHE—TH 18 33
PR 821 FHo 3 PNHE—TH 18 41
P 821 FHiod 10 PNHE—TH 18 34
P 821 FHioo 11 PNHE—TH 18 38
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P 821 Fioo 11 PNHE—TH 18 38
P 821 Fioo 11 PNHE—TH 18 38
P 821 Fioo 11 PNHE—TH 18 38
P 821 FHiod 13 PNHE—TH 18 43
P 821 FHiod 13 PNHE—TH 18 43
P 821 FHiod 13 PNHE—TH 18 43
P 821 FHiod 15 PNHE—TH 18 39
PR 963 &b PRETH 24 34
PE 964 FHio 1 PRETH 24 35
PE 964 FHo 2 PRETH 24 38
PE 964 FHo 3 PRETH 24 39
PR 965 &b PRETH 24 48
PR 965 &b PRETH 24 48
PR 965 FHio 1 PRETH 24 36
PE 965 FHio 2 PRETH 24 45
PE 965 FHio 5 PRETH 24 51
PE 965 FHio 5 PRETH 24 52
PE 965 FHio 5 PRETH 24 52
PE 965 FHio 5 PRETH 24 53
PE 965 FHio 5 PRETH 24 53
PR 965 FHid 10 PRETH 24 43
P 965 FHioo 11 PRETH 24 41
P 965 FHid 12 PRETH 24 40
P 965 FHid 12 PRETH 24 40
PR 965 FHio 13 PRETH 24 37
P 965 FHiod 13 PRETH 24 37
PR 966 Fhh PRETH 24 55
PR 967 FHio 1 PRETH 24 14
PR 967 FHio 2 PRETH 24 15
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PR 968 FHio 1 PRETH 24 16
PR 968 FHio 2 PRETH 24 13
PR 968 FHio 2 PRETH 24 13
PE 968 FHio 3 PRETH 24 11
PE 968 FHio 4 PRETH 24 17
PE 968 FHiD 6 PRETH 24 12
PE 969 FHio 1 PRETH 24 9
PE 969 FHio 2 PRETH 24 19
PE 969 FHio 3 PRETH 24 18
PE 969 FHio 3 PRETH 24 18
PE 969 FHio 4 PRETH 24 10
PE 970 FHho 2 PRETH 24 7
PE 970 FHo 3 PRETH 24 6
PE 970 FHio 5 PRETH 24 3
PE 970 FHio 5 PRETH 24 3
PE 970 FHo 5 PRETH 24 3
PE 970 FHo 5 PRETH 24 3
PE 970 FHio 6 PRMETH 23 3
P 970 FHioo 11 PRMETH 23 4
P 970 FHioo 15 PRMETH 23 5
PR 970 FHhoo 17 PRETH 24 70
P 970 FHioo 21 PRETH 24 69
PR 970 FHiod 24 PRETH 24 4
PR 970 FHioo 25 PRETH 24 5
P 970 FHhoo 27 PRETH 24 23
P 970 FHioo 28 PRMETH 23 7
P 970 FHioo 29 PRMETH 23 8
P 970 FHhoo 29 PRMETH 23 8
P 970 FHioo 32 PRETH 24 26
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PR 970 FHioo 33 PRETH 24 25
PR 970 FHiod 34 PRETH 24 67
P 970 FHiod 35 PRETH 24 66
PR 970 FHiod 36 PRMETH 23 9
PR 970 FHioo 38 PRETH 24 8
P 970 FHioo 40 PRETH 24 22
P 970 FHiod 42 PRETH 24 21
P 970 FHhoo 43 PRETH 24 20
P 970 FHhoo 47 PRETH 24 65
P 970 FHioo 51 PRMETH 23 11
PR 970 FHioo 73 PRETH 24 24
PR 971 FHo 3 PRMETH 23 13
PR 971 FHio 4 PRMETH 23 12
PR 971 FHio 4 PRMETH 23 12
PR 971 FHioo 2004 PRETH 24 64
PR 972 FHho 2 PRETH 24 62
PR 972 FHho 2 PRETH 24 62
PR 972 FHo 3 PRMETH 23 14
PR 972 FHo 5 PRETH 24 63
PR 972 FHho 7 PRMETH 23 15
PR 973 FHho 2 PRETH 24 59
PE 973 FHo 3 PRETH 24 60
PR 973 FHio 4 PRETH 24 61
PR 973 FHo 5 PRMETH 23 16
PR 973 FHio 6 PRMETH 23 17
PE 973 FHo 8 PRMETH 23 18
PE 975 FHho 2 PRMETH 23 19
PE 976 FHio 4 PRMETH 23 20
PR 977 FHo 2 PRMETH 22 15
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PR 977 FHo 3 PRMETH 22 14
PR 977 FHio 4 PRMETH 22 13
PR 977 FHo 5 PRMETH 23 23
PR 977 FHoO 6 PRMETH 23 22
PR 977 FHho 7 PRMETH 23 21
PR 978 FHo 3 PRMETH 23 24
PE 978 FHio 6 PRMETH 22 12
PE 979 FHo 2 PRMETH 22 10
PR 979 FHo 3 PRMETH 23 25
PE 979 FHoO 6 PRMETH 22 11
PR 980 FHioo 1 PRMETH 23 26
PR 980 FHioo 1 PRMETH 23 26
P 980 FHid 10 PRMETH 22 32
P 980 FHiod 11 PRETH 21 3
PR 980 FHiD 14 PRMETH 22 30
PR 980 FHiD 14 PRMETH 22 30
P 980 FHid 15 PRMETH 22 29
P 980 FHiod 17 PRMETH 22 2
P 980 FHiod 18 PRMETH 22 31
P 980 FHiod 19 PRETH 21 7
P 980 FHid 20 PRETH 21 5
P 980 FHiod 22 PRMETH 23 28
P 980 FHid 26 PRMETH 23 1
P 980 FHid 26 PRMETH 23 1
P 980 FHiod 27 PRMETH 23 27
P 980 FHiod 29 PRMETH 22 7
P 980 FHiod 29 PRMETH 22 7
P 980 FHid 30 PRMETH 22 8
P 980 FHid 30 PRMETH 22 8
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P 980 FHiod 31 PRMETH 22 9
PR 980 FHid 34 PRMETH 23 29
P 980 FHiod 43 PRMETH 22 28
PR 980 FHiD 44 PRETH 21 8
P 980 FHid 45 PRETH 21 10
P 980 FHiod 46 PRETH 22 26
P 980 FHiod 46 PRETH 22 26
P 980 FHid 56 PRETH 21 11
P 980 FHid 56 PRETH 21 11
P 980 FHiod 57 PRETH 22 27
P 980 FHid 58 PRETH 21 9
PR 981 FHo 2 PRMETH 22 25
PR 981 FHio 3 PRETH 21 12
PE 981 FHio 4 PRMETH 22 24
PE 981 FHHio 5 PRETH 21 13
PR 982 FHio 1 PRETH 21 15
PR 982 FHio 2 PRETH 21 14
PR 982 FHio 3 PRMETH 22 23
PR 982 FHio 5 PRMETH 22 22
PR 987 FHo 3 PRETH 21 31
PR 988 FHio 5 PRETH 21 32
PE 989 FHio 2 PRETH 21 33
PE 989 FHio 3 PRETH 21 34
PE 989 FHio 4 PRETH 21 35
PR 990 FHhoo 2 PRETH 21 40
PE 990 FHio 4 PRETH 19 17
PE 990 FHo 5 PRETH 21 46
PE 990 FHio 6 PRETH 21 47
PE 990 FHio 8 PRETH 19 11
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P 990 Fioo 11 PRETH 19 7
P 990 FHiod 13 PRETH 19 10
PR 990 FHioD 14 PRETH 19 34
P 990 FHiod 15 PRETH 19 35
PR 990 FHiod 16 PRETH 19 37
PR 990 FHiod 16 PRETH 19 37
P 990 FHiod 17 PRETH 19 39
P 990 FHiod 18 PRETH 19 26
P 990 FHiod 18 PRETH 19 26
P 990 FHiod 19 PRETH 19 29
P 990 FHiod 20 PRETH 19 30
P 990 Fioo 21 PRETH 19 9
PR 990 FHiod 24 PRETH 19 36
P 990 FHiod 25 PRETH 19 12
P 990 FHhioo 27 PRETH 19 14
P 990 FHid 30 PRETH 19 15
P 990 FHiod 31 PRETH 19 16
P 990 FHiod 32 PRETH 21 45
PR 990 FHiod 34 PRETH 21 44
P 990 FHiod 35 PRETH 21 43
P 990 FHiod 37 PRETH 19 38
P 990 Fiod 41 PRETH 19 18
P 990 FHiod 43 PRETH 19 6
P 990 FHiod 45 PRETH 20 9
P 990 FHiod 59 PRETH 20 10
P 990 FHid 60 PRETH 20 11
P 990 FHid 63 PRETH 21 38
PR 990 FHiD 64 PRETHE 21 37
PR 990 FHiD 64 PRETH 21 37
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P 990 FHid 68 PRETH 19 13
PR 990 FHiod 75 PRETH 21 41
PE 991 FHioo 1 PRETH 19 19
PR 991 FHo 3 PRETH 19 20
PE 991 FHio 4 PRETH 19 21
PE 991 FHo 5 PRETH 19 22
PE 991 FHioO 6 PRETH 19 23
PR 992 FHio 1 PRETH 20 7
PR 992 FHho 2 PRETH 20 6
PR 992 FHo 3 PRETH 20 5
PR 992 FHo 3 PRETH 20 5
PR 993 FHioo 1 PRETH 20 38
PR 993 FHioo 1 PRETH 20 38
PE 993 FHio 5 PRETH 20 40
PE 993 FHio 6 PRETH 20 41
PE 993 FHio 6 PRETH 20 41
PR 993 FHo 7 PRETH 20 43
PE 994 FHo 5 PRETH 20 39
P 1000 FHio 1 PRETH 20 30
P 1000 FHio 2 PRETH 20 30
P 1000 FHio 2 PRETH 20 30
P 1000 FHio 2 PRETH 20 30
P 1000 FHio 2 PRETH 20 30
P 1000 FHio 2 PRETH 20 31
P 1000 FHioo 2 PRETH 20 31
P 1000 FHioo 2 PRETH 20 31
P 1000 FHioo 2 PRETH 20 31
P 1000 FHioo 2 PRETH 20 31
P 1000 FHioo 2 PRETH 20 31
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PE 1000 FHio 2 PRETH 20 31
PE 1000 FHio 4 PRETH 20 46
PE 1000 FHio 6 PRETH 20 36
PE 1000 FHio 6 PRETH 20 36
PE 1000 FHio 8 PRETH 20 37
P 1000 FHid 10 PRETH 20 33
P 1000 FHid 10 PRETH 20 33
P 1003 FHio 1 PRETH 19 3
P 1004 FHiod 2 PRETH 19 4
P 1004 FHiod 2 PRETH 19 5
P 1005 FHh PRMETH 18 35
P 1005 FHh PRMETH 18 36
P 1005 FHio 1 PRMETH 18 31
P 1005 FHiod 3 PRMETH 18 30
P 1005 FHiod 4 PRMETH 18 33
P 1005 FHiod 4 PRMETH 18 33
P 1005 FHiod 6 PRMETH 18 29
PE 1006 FHio 1 PRMETH 18 1
PE 1006 FHio 3 PRMETH 18 53
PE 1006 FHio 5 PRMETH 18 54
P 1007 Fih PRMETH 18 3
P 1007 Fih PRMETH 18 3
P 1009 PRMETH 18 28
PE 1009 FHio 1 PRMETH 18 34
PE 1009 FHio 1 PRMETH 18 34
P 1009 FHid 2 PRMETH 18 27
PE 1010 FHio 1 PRMETH 18 6
PE 1010 FHio 5 PRMETH 18 24
P 1010 FHioo 12 PRMETH 18 23
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PR 1010 FHuoo 14 PRMETH 18 5
P 1010 FHioo 19 PRMETH 18 13
P 1010 FHioo 20 PRMETH 18 9
P 1010 FHioo 21 PRMETH 18 10
P 1010 FHioo 21 PRMETH 18 10
P 1010 FHioo 22 PRMETH 18 11
PR 1010 FHuoo 24 PRMETH 18 25
P 1010 FHioo 26 PRMETH 18 18
P 1010 FHhoo 27 PRMETH 18 17
P 1010 FHioo 28 PRMETH 17 1
P 1010 FHioo 29 PRMETH 17 20
P 1010 FHiod 30 PRMETH 17 18
P 1010 FHioo 31 PRMETH 17 16
P 1010 FHioo 32 PRMETH 17 15
P 1010 FHiod 33 PRMETH 17 14
P 1010 FHiod 33 PRMETH 17 14
PR 1010 FHuoo 34 PRMETH 17 13
PR 1010 FHuoo 34 PRMETH 17 13
P 1010 FHioo 41 PRMETH 18 14
P 1010 FHioo 41 PRMETH 18 14
P 1010 FHiod 52 PRMETH 18 8
PE 1012 FHio 1 PRMETH 17 7
PE 1012 FHio 1 PRMETH 17 7
P 1012 FHiod 2 PRMETH 17 3
P 1012 FHho 4 PRMETH 17 6
P 1012 FHiod 5 PRMETH 17 5
P 1013 FHiod 2 PRMETH 17 10
P 1013 FHiod 3 PRMETH 17 9
P 1013 FHio 4 PRMETH 17 8
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PE 1014 FHio 1 PRETH 16 25
PE 1014 FHio 1 PRETH 16 25
PE 1014 FHio 1 PRETH 16 25
P 1014 FHioo 3 PRETH 16 26
P 1014 FHho 4 PRETH 16 23
P 1014 FHiod 5 PRETH 16 24
P 1015 FHiod 2 PRETH 16 32
P 1015 FHio 4 PRETH 16 1
P 1015 FHiod 7 PRETH 16 33
P 1015 FHiod 8 PRETH 16 34
P 1016 FHh PRETH 16 3
P 1016 FHh PRETH 16 3
PE 1016 FHio 1 PRETH 16 3
PE 1016 FHio 2 PRETH 16 5
PE 1016 FHio 2 PRETH 16 5
P 1017 FHiod 2 PRETH 16 20
P 1017 FHiod 3 PRETH 16 21
P 1019 FHiod 2 PRETH 16 8
PR 1020 FHio 3 PRMETH 15 3
PR 1020 FHio 4 PRETH 14 1
PE 1020 FHo 7 PRMETH 15 8
PR 1020 FHuoo 14 PRETH 16 10
P 1020 FHiod 16 PRMETH 15 10
PR 1020 FHiod 20 PRMETH 15 14
P 1020 FHioo 22 PRMETH 15 1
P 1024 Fih PRMETH 15 11
P 1024 Fih PRMETH 15 11
P 1024 Fih PRMETH 15 12
P 1024 Fih PRMETH 15 12
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P 1024 Fih PRMETH 15 15
P 1024 Fih PRMETH 15 16
PR 1024 FHio 1 PRMETH 15 16
P 1025 Fh PRMETH 15 21
P 1025 Fh PRMETH 15 21
P 1025 FHiod 2 PRMETH 15 19
P 1025 FHiod 3 PRMETH 15 20
PR 1028 FHioo 1 PRETH 14 13
PR 1028 FHioo 1 PRETH 14 13
P 1028 FHid 2 PRETH 14 14
P 1028 FHid 2 PRETH 14 14
P 1029 FHh PRMETH 15 24
PR 1029 FHio 1 PRMETH 15 31
P 1029 FHiod 6 PRMETH 15 26
PR 1029 FHiod 7 PRMETH 15 35
PR 1029 FHiod 7 PRMETH 15 35
P 1029 FHiod 8 PRMETH 15 34
P 1029 FHio 9 PRMETH 15 33
P 1029 Fio 11 PRMETH 15 23
P 1029 FHiod 13 PRMETH 15 32
P 1029 FHiod 13 PRMETH 15 32
P 1029 FHiod 13 PRMETH 15 32
PE 1031 FHio 1 PRETH 14 20
PE 1031 FHio 3 PRETH 14 18
P 1032 FHiod 2 PRMETH 13 5
P 1032 FHho 4 PRMETH 13 7
P 1032 FHiod 6 PRMETH 13 8
PE 1033 FHio 1 PRMETH 13 3
P 1033 FHiod 2 PRMETH 13 2
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PE 1034 FHio 1 PRMETH 13 15
P 1034 Fho 4 PRMETH 13 13
P 1034 FHiod 5 PRMETH 13 14
P 1034 FHiod 5 PRMETH 13 14
P 1035 Fh PRETH 10 10
P 1035 Fh PRETH 10 11
PE 1035 FHio 1 PRMETH 12 3
P 1035 FHiod 2 PRMETH 12 1
P 1035 FHiod 2 PRMETH 12 10
P 1035 FHiod 2 PRMETH 12 10
P 1035 FHiod 3 PRETH 11 5
P 1035 FHiod 8 PRETH 10 13
P 1035 FHiod 8 PRETH 10 13
P 1035 FHio 9 PRETH 10 9
P 1035 FHiod 12 PRMETH 12 4
P 1035 FHioo 13 PRMETH 12 6
P 1035 FHioo 13 PRMETH 12 6
PR 1035 FHuoo 14 PRETH 11 8
P 1035 FHiod 15 PRETH 11 9
P 1035 FHiod 20 PRETH 10 8
P 1035 FHiod 22 PRETH 10 5
P 1035 FHio 23 PRETH 10 6
P 1035 FHiod 26 PRETH 11 1
P 1035 FHiod 28 PRETH 10 15
P 1035 FHiod 33 PRETH 11 16
PR 1035 FHuoo 34 PRMETH 12 5
P 1035 FHiod 35 PRETH 11 4
P 1035 FHiod 40 PRMETH 12 2
P 1036 Fih PRETH 10 1
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P 1036 Fih PRETH 10 1
P 1036 Fih PRETH 10 25
P 1036 F it PRETH 10 25
P 1036 F it PRETH 10 25
P 1036 F it PRETH 10 25
P 1036 F it PRETH 10 29
P 1036 F it PRETH 10 29
PE 1036 FHio 4 PRETH 10 25
P 1038 Fih PEMUTH 9 14
P 1038 Fih PEMUTH 9 14
P 1038 FHiod 4 PEMUTH 9 16
PE 1039 FHio 1 PEMUTH 9 12
P 1039 FHiod 2 PEMUTH 9 11
P 1039 FHiod 3 PEMUTH 9 18
P 1039 FHiod 7 PEMUTH 9 17
e 1040 FKHiod 2 PEUTE 9 6
e 1040 FKHiod 2 PEUTE 9 6
e 1040 FKHiod 2 PEUTE 9 6
e 1040 FKHiod 2 PEUTE 9 6
e 1040 FKHioo 2 PEUTE 9 6
e 1040 FKHioo 2 PEUTE 9 6
e 1040 FKHioo 2 PEUTHE 9 6
e 1040 FKHioo 2 PEUTHE 9 7
PR 1040 FHhoo 3 PEMUTH 9 23
e 1040 Koo 5 PEUTHE 9 1
PR 1040 FHhio 8 PEMUTH 9 26
PR 1040 FHhio 8 PEMUTH 9 26
P 1040 FHio 10 PEMUTH 9 30
B 1040 Fitioo 12 PEUTHE 9 4
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e 1040 Fiioo 15 PEUTE 9 3
P 1040 FHiod 16 PEMUTH 9 28
P 1040 FHioo 19 PEMUTH 9 24
P 1040 FHhoo 27 PEMUTH 9 31
P 1040 FHioo 28 PEMUTH 9 32
P 1040 FHiod 29 PEMUTH 9 33
P 1040 FHiod 29 PEMUTH 9 33
PR 1040 FHuoo 34 PEMUTH 9 19
P 1040 FHiod 35 PEMUTH 9 20
B 1040 FHiod 36 PEUTE 9 8
B 1040 Fitioo 37 PEUTE 9 9
P 1040 FHiod 39 PEMUTH 9 10
P 1042 Fih PEMUTH 8 19
PR 1043 FHio 1 PEMUTH 8 21
e 1043 FKHioo 2 PEUTHE 8 5
e 1043 FKHioo 2 PEUTHE 8 5
e 1043 FKHioo 3 PEUTHE 8 4
P 1044 Fih PEMUTH 8 17
P 1044 Fih PEMUTH 8 18
P 1044 FHioo 2 PEMUTH 8 17
PS 1044 FHo 4 PUSUTH 8 6
PS 1044 FHo 4 PUSUTH 8 6
P 1045 FHiod 2 PEMUTH 8 14
P 1045 FHiod 2 PEMUTH 8 14
PR 1046 FHio 1 PEMUTH 8 10
B 1046 FHiod 2 PEUTEH 8 8
P 1047 FHioo 2 PEMUTH 7 19
P 1047 FHioo 3 PEMUTH 7 20
PR 1048 FHioo 1 PEMUTH 7 17
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P 1048 FHiod 2 PEMUTH 7 18
P 1049 FHiod 3 PEMUTH 7 16
P 1050 FHh PEMUTH 6 25
P 1050 FHioo 1 PEMUTH 7 13
P 1050 FHioo 1 PEMUTH 7 14
PR 1050 FHio 2 PEMUTH 6 26
PE 1050 FHio 4 PEMUTH 6 24
PE 1050 FHio 5 PEMUTH 6 17
P 1050 FHiod 10 PEMUTH 5 14
P 1050 FHiod 18 PEMUTH 6 20
P 1050 FHiod 18 PEMUTH 6 20
P 1050 FHiod 19 PEMUTH 6 22
PR 1050 FHioo 24 PEMUTH 5 18
P 1050 FHioo 27 PEMUTH 6 21
B 1050 FiHiod 30 PEUTEH 5 3
B 1050 Fitiod 31 PEUTEH 6 2
P 1050 FHiod 35 PEMUTH 6 27
P 1050 FHiod 37 PEMUTH 6 29
B 1050 FiHioo 38 PEUTEH 6 1
PE 1051 FHio 3 PEMUTH 5 12
P 1052 FHio 1 PEUTEH 5 7
P 1052 FHiod 2 PEMUTH 5 10
e 1052 FHitiod 4 PEUTHE 5 9
e 1052 FHitiod 4 PEUTHE 5 9
e 1052 Koo 5 PEUTHE 5 8
e 1052 Koo 5 PEUTHE 5 8
P 1053 Fih PEMUTH 4 31
P 1054 Fih PEMUTH 4 34
P 1055 FHio 1 PEMUTH 4 37
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P 1055 FHiod 2 PEMUTH 4 38
PE 1056 FHio 1 PEMUTH 4 43
PE 1056 FHio 2 PEMUTH 4 39
PE 1056 FHio 5 PEMUTH 4 41
PE 1056 FHio 6 PEMUTH 4 40
P 1057 Fih PEMUTH 4 45
P 1057 FHiod 6 PEMUTH 4 46
P 1057 FHiod 6 PEMUTH 4 46
e 1060 FKiHiod 3 PEUTE 2 2
e 1060 FKiHiod 3 PEUTE 2 2
e 1060 FKiHiod 3 PEUTE 2 2
PE 1060 FHio 6 PEMUTH 1 24
e 1060 Fitod 11 PEUTE 3 5
e 1060 Fiiod 15 PEUTE 3 1
P 1060 FHiod 16 PEMUTH 3 10
P 1060 FHiod 16 PEMUTH 3 10
e 1060 FiHiod 19 PEUTE 3 9
e 1060 FiHiod 19 PEUTE 3 9
e 1060 Fitioo 23 PEUTE 2 5
e 1060 FiHiod 26 PEUTE 2 8
P 1060 FHid 42 PEMUTH 2 10
B 1060 FKiiod 401 PEMUTHE 2 1
PE 1061 FHio 1 PEMUTH 1 45
PE 1061 FHio 8 PEMUTH 1 46
PE 1061 FHio 9 PEMUTH 1 44
PE 1062 FHio 1 PEMUTH 1 52
P 1062 FHiod 2 PEMUTH 1 51
PR 1062 FHiod 3 PEMUTH 1 50
P 1062 FHiod 7 PEMUTH 1 48

_76_




RS

Bl

=]

%

%

T & HT * &l e i =
PE 1063 FHio 1 PEMUTH 1 56
P 1065 Fh PEMUTH 1 58
P 1065 Fh PEMUTH 1 58
PR 1065 FHio PUSUTH 1 1
PR 1065 FHio PUSUTH 1 1
P 1065 FHioD PEMUTH 1 59
PR 1065 FHio PUSUTH 1 1
P 1065 FHioD PEMUTH 1 60
P 1065 FHioD PEMUTH 1 60
P 1066 FHHio PEUTHE 1 3
P 1066 FHHio PEUTHE 1 5
P 1067 FHioD PEMUTH 1 8
P 1067 FHioD PEMUTH 1 6
P 1068 F it PEMUTH 1 13
P 1068 F it PEMUTH 1 13
P 1068 F it PEMUTH 1 15
P 1068 F it PEMUTH 1 15
P 1068 F it PEMUTH 1 15
P 1068 F it PEMUTH 1 15
P 1068 F it PEMUTH 1 15
P 1068 F it PEMUTH 1 19
P 1068 it PEMUTH 1 19
P 1068 FHid PEMUTH 1 11
P 1068 FHid PEMUTH 1 11
PR 1070 FH PUSUTH 4 1
P 1070 FHio PEMUTH 1 21
P 1070 FHio PEMUTH 1 22
P 1070 FHio PEMUTH 1 23
P 1070 FHio PEMUTH 1 27
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PE 1070 FHio 5 PEMUTH 1 27
e 1070 Koo 7 PEUTH 4 6
e 1070 FKiHioo 8 PEUTH 4 7
PE 1070 FHio 9 PEMUTH 4 10
PE 1070 FHio 9 PEMUTH 4 10
PE 1070 FHio 9 PEMUTH 4 11
PE 1070 FHio 9 PEMUTH 4 11
PE 1070 FHio 9 PEMUTH 4 11
PR 1070 FHiod 10 PEMUTH 4 13
P 1070 FHioo 12 PEMUTH 4 12
PR 1070 FHioo 13 PEMUTH 4 14
e 1070 FHiiod 14 PEUTH 4 5
e 1070 Fitioo 15 PEUTH 4 3
e 1070 Fitioo 15 PEUTH 4 3
e 1070 FHiHioo 16 PEUTH 4 8
P 1070 FHioo 18 PEMUTH 4 59
P 1070 FHioo 18 PEMUTH 4 59
PR 1070 FHuoo 34 PEMUTH 4 56
P 1071 FHh PEMUTH 4 15
P 1073 Fih PEMUTH 4 19
P 1074 FHioo 2 PEMUTH 4 22
P 1074 FHio 6 PEMUTH 4 20
P 1075 Fih PEMUTH 4 24
PE 1077 FHio 1 PEMUTH 4 25
P 1077 FHiod 2 PEMUTH 4 29
P 1077 FHiod 3 PEMUTH 4 26
P 1077 FHho 4 PEMUTH 4 28
PR 1090 FHuo 7 PME=TH 15 23
PE 1210 FHio 4 PE=TH 23 15
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PE 1210 FHio 5 PR=TH 23 17-102
PE 1210 FHio 5 PR=TH 23 17-301
PE 1210 FHio 5 PR=TH 23 17-302
PE 1210 FHio 5 PHR=TH 23 17-303
PE 1210 FHio 5 PR=TH 23 17-401
PE 1210 FHio 5 PR=TH 23 17-401
PE 1210 FHio 6 PE=TH 23 19
P 1210 FHio 28 PE=TH 23 28
P 1210 FHio 28 PE=TH 23 28
P 1210 FHio 28 PE=TH 23 28
PR 1210 FHioo 30 PE=TH 23 7
PR 1211 FHio 1 PE=TH 23 4
PR 1212 FHio 1 PE=TH 23 3
PR 1214 FHio 1 PE=TH 16 5
PR 1219 FHio 1 PE=TH 20 2
P 1225 FHiod 5 PE=TH 16 16
P 1225 FHiod 5 PE=TH 16 19
PR 1227 FHio 1 PE=TH 16 20
PR 1227 FHio 1 PE=TH 16 20
PR 1227 FHio 1 PE=TH 16 22
P 1233 Fih PE=TH 16 6
P 1239 Fih PE=ETH 20 17
PR 1240 FHho 3 ME=TH 22 35
PR 1240 FHho 3 ME=TH 22 36
PR 1240 FHho 3 ME=TH 22 36
P 1240 FHioo 12 ME=TH 22 37
P 1245 FHioo 3 PE=ETH 20 5
P 1245 Fho 4 PE=ETH 20 10
P 1245 FHhoo 7 PE=ETH 21 1

_79_




RS

Bl

=]

T & HT * &l e i =
P 1245 FHioo 8 PME=ZTH 21 3
P 1245 FHioo 10 ME=TH 22 14
PR 1245 FHuoo 14 ME=TH 22 12
P 1245 FHho 17 PE=ETH 20 8
P 1245 FHho 22 PME=ZTH 21 14
P 1245 FHhoo 25 PE=ETH 20 7
P 1245 Fhoo 27 PME=ZTH 21 15
P 1245 FHhod 35 ME=TH 22 13
P 1245 FHhod 35 ME=TH 22 13
P 1245 FHhod 35 ME=TH 22 13
P 1246 Fih PME=ZTH 21 5
PR 1247 FHio 1 PME=ZTH 21 6
P 1247 FHioo 2 PME=ZTH 21 7
P 1247 FHioo 2 PME=ZTH 21 7
PR 1248 FHioo 1 ME=TH 22 22
P 1248 FHiod 2 ME=TH 22 23
P 1248 FHiod 5 ME=TH 22 17
P 1248 FHiod 6 ME=TH 22 19
P 1248 FHiod 7 ME=TH 22 20
PR 1249 FHio 1 PE=ETH 24 1
P 1250 Fih PE=ETH 24 3
P 1251 FHh PE=ETH 24 45
P 1252 Fih PE=ETH 24 44
PR 1252 FHio 1 PE=ETH 24 44
P 1252 FHiod 2 PE=ETH 24 43
P 1252 FHiod 2 PE=ETH 24 43
P 1254 FHh PE=ETH 24 41
P 1255 FHh PE=ETH 24 8
PR 1256 FHio 1 PE=ETH 24 10
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PR 1257 FHio 1 PE=ETH 24 11
PR 1257 FHio 1 PE=ETH 24 11
P 1258 FHio 1 PE=ETH 24 40
PE 1262 FHio 1 PE=ETH 24 13
P 1263 Fih PE=ETH 24 38
PR 1265 FHio 1 PE=ETH 24 36
PR 1265 FHio 1 PE=ETH 24 36
PR 1265 FHio 1 PE=ETH 24 36
PR 1265 FHio 1 PE=ETH 24 36
PR 1265 FHio 1 PE=ETH 24 36
PR 1265 FHio 1 PE=ETH 24 36
PE 1266 FHio 4 PE=ETH 24 31
PE 1266 FHiO 6 PE=ETH 24 20
PR 1266 FHio 7 PE=ETH 24 17
PE 1266 FHio 8 PE=ETH 24 21
PE 1266 FHio 8 PE=ETH 24 21
PE 1266 FHio 9 PE=ETH 24 22
P 1266 FHiod 10 PE=ETH 24 24
P 1266 FHioo 11 PE=ETH 24 23
P 1266 FHiod 12 PE=ETH 24 18
P 1266 FHiod 13 PE=ETH 24 16
P 1207 FHiod 2 PE=ETH 24 27
P 1267 FHio 4 PE=ETH 24 30
P 1267 FHio 4 PE=ETH 24 30
PE 1316 FHio 3 PE=ETH 24 5
P 1318 &l PE=ETH 19 28
PE 1318 FHioo 1 PE=ETH 19 13
P 1328 FHioo 1 PE=ETH 19 31
PR 1330 FHioo 1 PE=ETH 24 14
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